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Key Dates:

February PPEs 24t Feb-3' Mar
April PPE (Classroom) 20t" April
Paper 1 18t May

Paper 2 37 June

Paper 3 11" June
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Target setting —

Set yourself a monthly revision target
Example target — Learn more case studies for 6/9 mark questions on paper 1
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How to use this book

Revision is hard. Fact!

One of the hardest parts is to know where to start and what to do. In Geography, we
believe that guiding you into the process of revision will have the largest impact on
your grade in the end.

This book is designed to be used in the following ways

* Pages 3-9: Use to familiarise yourself with the exam. Read these pages and ask
your teacher about anything you don’t understand

* Page 10: Use this to revise the strategies you should consider when answering
different types of questions. If you complete practice questions, try to remember
to use them, the are designed to make it easier for you to score maximum marks.

* Page 11-12 Use these pages to make notes about the World Geography you might
need. You will need to know where each continent is, use page 11 to learn this and
use page 12 to find all of your case studies, draw these onto the map.

* Each topicthen has a
- Glossary sheets —use these to learn key definitions, make sure you learn the
words used in each topic, get others to test you
- Knowledge organisers — use the spaces to organise your own notes on the
topics you will be assessed on. Concentrate of brief notes, not too much detail
-Diagrams to label — use these sheets to make sure you can name the key
features of the main landforms and other diagrams used throughout the course
- PLC (Personal Learning Checklist) — Use these to review how confident you
feel about each topic. This can be done more than once as you revise. Make
sure you spend an appropriate amount of time on the areas you feel weakest
on.
-Practice 6 and 9 markers — These are opportunities to practice structuring your
guestions. Use the first 10 pages of the book to help you plan answers. Your
teacher will mark these for you if you bring them in.

* At the back of the book, there are completed knowledge organisers for reference,
your own ones (completed earlier) will be more useful to you, but you can use
these to help. There are also completed diagrams to label. These can be used to
check against what you have produced.

If you have any questions at all about revision please contact me via email. You can
reach me at brookes.p@cottinghamhigh.net
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Introduction: What is assessed

on each paper?

Figure 1 shows whal is assessed on each of the three exam Baers. There are
Some options in Paper § and Faper 2. Make sure vou know which ones vou hase
- covered.

Paper 1 Living with the physical environment Time allowed: 1 hour 30 minutes

Sexton | Marks | What are questions about?

| 33 |1 The challenge of natural hozards | Answer al questons |
!@52 2. The Iving world Answer all guestions Tick two
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Chapter 1: How Geography IS
assessed in Papers 1 and 2

This chapter is about how GCSE Geography is assessed in Papers | and 2. it will
cover:

m what the exam questions mean

® how to tackle questions that use graphs, maps and photos

= how to answer questions worth 6 and 9 marks.

Understanding exam questions

Papers | and 2 have a variety of questions designed to test your ability as a

: ape r2
geographer. It's important you understand what each question is asking you (o do: ";: ha::.;:‘:‘::pn:
s Command words are words such as ‘Assess’ ot ‘Explain’. The command vynimme for each mark.

word tells you what you must do when you write your response. Common spend about ten

command words used in Paper 1 and Paper 2 are given in Figure 1.2. minutes on a 9-mark
a The tariff is the number of marks that are available for each question, These question. Don't write

marks are shown at the end of the space where you put your answer. Use a lot for a 1- or 2-mark

the number of lines printed on the exam paper as a guide to how much you question.

should write
s The assessment objective (AO) is what the examiner is looking for in

your response. There are four AOs. They are described in Figure 1.1. Some
AOI1 or AD4. These questions have a low tariff Other
bination of AOs. These questions have 4, 6 or 9 marks.
ese questions very carefully to understand what the

questions assess only
questions assess a com
you will need to read th
examiner is looking for.

Figure 1.1 The assessment objectives (AOs)

Typical ¢ ommand word
Describe, Give, Outline, State.

Explain, Give one reason, Outline one

What the examiner is looking for

Your ability to remember geographical facts

AOT
Whether you understand geographical concepts and processes

AO2

AO3  Whether you can evaluate evidence or use evidence 10 make 8

decss‘on - -
AO4  Your skill when you use maps and graphs or make calculations i D

X
——
Vo

Read the question carefully
it is essential to do what the command word asks you to.

is ‘assess’ or 'to what extent? then you must do ,
judgement. Figure 1.2 lists common

mean
BUG the question! Sometimes
about a subject, without 3
question:




Figure 1.2 Command words that could be used in Paper 1 and Paper 2

Command

Tariff word What you need to do
1,23 Calculate  Work out the value of something.

Describe  Give a brief account of something.
Give Make a short, simple statement.
Identify Name a feature.

Outline Cive a brief account of something.

State Make a short, simple statement of fact.

Discuss Consider the arguments that can be
debated around a geographical issue.

Show your understanding by giving
reasons.

Propose a possible solution, reason or

consequence. Your suggestion should
be based on geographical evidence.

tjudgemen‘t by weighing up the
ts for and against. Make sure

Example

Calculate the mean shown in Figure 1.

Show your working. (2 marks]
Describe the distribution of countries

shown in Figure 1, (2 marks)

Give one reason why tropical regions have
high temperatures throughout the year. (1 mark]

Using Figure 1, identify the landform
marked X. (1 mark]

Outline one way in which trade has had
an impact on a named LIC or NEE country. @€XLc)

State one physical characteristic of a
tropical rainforest. [1 mark}

Using Figure 1 and your own understanding,
discuss the issues arising from the growth

of major cities in LICs or NEEs, 6 marks
Explain how waterfalls may change
over time. (4 marks)

Using Figure 1 and your own understanding,
suggest how large-scale agriculture can
create disadvantages for the environment. (TT100

Assess the extent to which people can
adapt to climate change.

To what extent have people been successful
in managing traffic congestion in a major
LIC or NEE city you have studied?




9-mark questions on Papers 1 and 2

Key poimis about 9-mark questions:
® You need 1o answer two questions worth 9 marks in Paper | and anciner two
In Paper 2
~oneat the end of question |
= One at the end of question 2
® In each paper, one of these questions will have an extra ) marks for speliing.
punciuation and grammar {SPaG) This is marked on the exam pager after the
question
& Questions will test your ahility to evaluate of to make a decision (Figure 1.18)
& The examiner is kooking for more than oae thirg n your response, Questions
will have:
= 3marks for AOI (facts)
= A marks tor AD2 (understanding)
= dmarks for AO3 (your ability to cvatuate or make a dectsion).

Figure 118 Command words for 9-mark questions

e

A

for AD? {facts}

4
BEERIENL to which intetnational agresments are oble
/ﬁmm Q parks

| m hhww L YO must shon Yo st A pour knowifiioe of
' ’“l,mlm up. 3 marks for AOR Mt ona agreements. 3 marks

i Bow nnemational 39-bements ton reduce

chnsie ctange. ) marks foe AO2 (understanding)
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thich environment you have chosen,

'
| Soumast te the optcn you rave snuicd Theve
Brenio niarks fir (i -« helps the examoor

=
S

Some students do
the S-mark quest:ans
first. This makes scme
sense — they are worth
it lot of marks, so you
might want to do them
straight away while
you are fealing alert. If
you decide to do this
8 3ilow a maximum
of ten minutes
(thirteen for the
question with
SPaG)

u  aftecwards, work

carefully through
the papér to ensure
you don't miss any
questions.




Structuring your answer

| meabnul len minsuges 1o answer the SSmark questions (thirteen minutes for
anueg.uons wilh SPaG). Examiners will expect 10 see answers that are

‘@ Jonger [ least cighteen lines)

@ structured - perhaps using two paragraphs and a conclhusion

' qvahlatht

estion will use command words I1ke ‘Assess’ or 'To what extent? . <o you
give an answer that evaluates the evidence. It's a good idea to practise
stmcm for your answer to this Kind of question Lét's see how this can

e study, to what extent have physical challenges
| economic activity in your chosen enviconment? (IIID

‘g 'a’ﬁwh this question will have three parts to it (Figure 1.19)

nent. This paragraph will use evidence that SUpPpOres the view
d then explain how phaysical challenges such as the climate
f Can prevent economic activity. Use evidence Lo support vour
1 ledlluq_un Is known as PEEL (see page 20)
. Use PEEL again to consider the opposing point of
,e:wnplx of econumic actiities that have been

ul pessesse si Aydeisbosr) MoH :| 18ideyd

phystcal challenges.
m paragraph shoukd weigh up the evidence and reach a Use words and phra;es
oF not physical challenges have prevented economic in your conclusion that

<ome 1o & straightforward yes or no - a black and white :‘::‘9.“ m“z:m‘:‘:s
a 10 argue for something in between, If 5o, NG

RPN you have answered the
; Ml'bmu 1.22; to help you word your question.
Figure 1.19 How to construct

In comparison .
Ancther posaibility is .




PEEL your answer

On pages 12-13 we looked # using 'So what™ to extend snd explain stmple

ponis. If you wanl to extend each polnt further, you need to PEEL It The #EEL

technigue is explained in Figure 1.21 We have seen thal i good answer 1o a
~S-mark question will have at beast two paragraphs. Each paragraph should make
_¢me point and PEEL it

Back up your poinit
wilh 50me
Evidence.

Shonw the examines

yoar krewededge

by giving an
exampia

Link to the words used
n the question,  the
Question Tequares seime
evaluation, use word
like ‘strergtn’
‘advantage’, ‘weaknews’
o “IMItation” 10 prove to
the examiner that you ara
JNEWENING the question

Brsdence »
clear




How 9-mark questions are marked

Samark questions ane marked using a mark scheme wath theee levels - detadled

Cclesr and banic. You won't get o Lok for each poet - the quality of your answer
| mpu(d(u the descriptions in the mark scheme Study the example in

m‘ 1:23 1t could be used with the following question

(¥ martcs)

Duscription

MOT Detaiied knowledge of international agreements

AD2 Therough geographical understandiog of how agreements ace able 10 reduce the Causes
- of climate change

ADS Thorough evaluation of the extent to which agreements ace able 10 roduce the cajees of
climate change

4= AD! Gear imowh@e of internationat agreements.
“ mmmu understanding of how agreements are abe to raduce the causes of dimate

mmwﬂmd the extent to which agresments are abde to reduce the Cau
__'qfc&mdm

.

: Mdmwu to which agreements are able 1o reduce the Causes «
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How to succeed at GCSE Geography CHS Geography Team ‘How 1o succeed at GCSE Geography GHS Geography Team

= EXPlain

For examples and case studies, know your stuff = =0 77/

At the end of each sentence you write on an
explain quesion, ask,

Learn key facts and figures M‘any peaple's house fell dbwn

Know details like date, time, place, magnitude Which lead to them being homeless
Avoid generalisations Which made them more likely to get ill
So more emergency aid was needed.
E.g. The 2009 earthquake in L'Aquila, Italy,

measured 6.3 on the Richter Scale. It killed 308

people, largely because it struck at 3:30am
when many people were in bed.

How to succeed at GCSE Geography CHS Geography Team How to succeed at GCSE Geography CHS Geography Team
Getting maximum marks on figure questions How to answer impact / effect questions

When a figure contains data, numbers, graphs S is for social
or sometimes maps, use Team C. How are people affected by an event?

E is for economic
T - Trends, what patterns can you see? How can money and employment be affected?
E - Examples, can you quote numbers / places?
A - Anomalies, what doesn't fit? Why not?

M - Maths, can you work out the range, mean,
median, mode, total, distance, height? E is for environmental

C - Conclusion, overall, what does it show? How is the living world affected?

Write about social impacts, economic impacts
and environmental impacts to access level 3

SUGGEST

| - Issue - what is the issue in the questions?

S31911VdlS dAILVNOOOVL

S - solution - how can this problem be solved?
E - evidence (from figure if present)



World Map
Task:

Learn off by heart the names and locations of the continents and oceans

Southern Ocean

Antarctica




World Map of case Studies

Task:
Add the locations of all of your case studies. Colour code them by topic.
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rainforest Biome




Hazard risk
The probability or chance that a2 natural hazard may
take place.

Natural hazard

A natural event (for example an earthguake, volcanic

eruption, tropical storm, flood) that threatens people
or has the potential to cause damage, destruction and
death.

Conservative plate margins
Tectonic plate margin where two tectonic plates slide
past each other.

Constructive plate margin
Tectanic plate margin where rising magma adds new
miaterial to plates that are diverging or moving apart.

Destructive plate margin

Tectonic plate margin where two plates are
converging or coming together and cceanic plate is
subl:luv:ted It can be associated with violent
earthgquakes and explosive volcanoes.

Earthquake
A sudden or violent movement within the Earth’s
crust followed by a series of shocks.

Immediate responses
The reaction of people as the disaster happens and in
the immediate aftermath.

Long-term responses
Later reactions that occur in the weeks, months and
years after the event.

Monitoring

Recording physical changes, such as earthquake
tremors around a volcano, to help forecast when and
where a natural hazard might strike.

Plate margin
The margin or boundary between two tectonic plates.

Planning

Actions taken to enable communities to respond to,
and recover from, natural disasters, throush measures
such as emergency evacuation plans, information
managemesnt, cCommunications and warning systems.

Prediction

Attempts to forecast when and where a natural
hazard will strike, based on current knowledge. This
can be done to some extent for volcanic eruptions
[and tropical storms), but less reliably for
earthquakes.

Primary effects

The initial impact of a natural event on people and
property, causad directly by it, for instance the ground
buildings collapsing following an earthquake.

Protection

Actions taken before a hazard strikes to reduce its
impact, such as educating pecple orimproving
building design.

Secondary effects

The after-effects that ocour as indirect impacts of a
natural event, sometimes on a longer timescale, for
instance fires due to ruptured gas mains resulting
from the ground shaking.

Tectonic hazard
A natural hazard caused by movement of tectonic
plates {including volcanoes and earthguakes).

Tectonic plate

A rigid segment of the Earth’s crust which can “float’
across the heavier, semi-molten rock below.
Continental plates are less dense, but thicker than
oceanic plates.

Volcano
An opening in the Earth’s crust from which lava, ash
and gases erupt.



Economic impact
The effect of an event on the wealth of 2n area or
commmunity.

Environmental impact
The effect of an event on the landscaps and ecolosy
of the surrounding area.

Extreme weather

This is whien a weather event is significantly
different from the average or usual weather
pattzrn, and iz especizlly severs or unseasonal. This
may take place over one day or a period of time. A
severe snow blizzard or heat wave are two
examples of extreme westher in the UK.

Global atmospheric circulation

The worldwide system of winds, which transports
heat from tropical to polar latitudes. In each
hemisphere, sir also circulates through the entire
depth of the tropozphere which extends up to 15
k.

Immediate responses

The reaction of people as the disaster happens and
in the immediate sftermath.

Long-term responses
Later reactions that occur im the weeks, months and
years after the event.

Management sirategies
Technigues of contrelling, responding ta, or dealing
with an event.

Monitoring

Recording physical changes, such as tracking a
tropical storm by satellits, to help foracast when
and where 3 nstural hazard might strike.

Planning

Actions taken to enable communities to respond to,
and recover from, natural disasters, through
meszsures such s emergency evacuation plans,
information management, communications and
WAarninmg systems.

Prediction

Attempts to forecast when and where 2 natural
hazard will strike, based on current knowledge. This
camn be done to some extent for tropical storms (and
valcanic eruptions, but less reliably for
earthguakes).

Primary effects

The initial impact of 3 natural event on people and
property, caused directly by it, for instance
buildingz being partially or whaolly destroyed by =
trizpical storm.

Protection

Actions taken before 3 hazard strikes to reduce its
imipact, such as educating people or improving
building design.

Secondary effects

The after-effects that ocour az indirect impacts of 2
natural event, somstimeas on a lenger timescale, for
instance impact on sccess to potable water can lead
to spread of diseazs.

Social impact
The effect of an event on the lives of people or
Commmunity.

Tropical storm {hurricane, cyclone,
typhoon)

An area of low pressurs with winds movingina
spiral =round the calm central point called the aye
of the storm. Winds are powerful and rainfall is

heswy.



Hazards

Hazard:

Risk: _

Factors affecting the impact of hazards:

Constructive:

Destructive:

Conservative:

Structure of the earth:

Oceanic crust:

Continental crust:

Parts of a volcano:

Why do they erupt?

Shield:

Composite:

Nepal 2015 (LIC)

Why do earthquakes occur?

Epicentre:

Focus:

‘Why do people live in hazard zones?

L' Aquila 2009 (HIC)




Menitoring volcanic hazards: Hurricane formation: Anticyclones:

Greenhouse effect:

Monitoring earthguake hazards:

Typhoon Haivan 2013 (LIC)

Earthguake resistant design: Human causes of climate change:

Matural causes of climate change:

Global atmospheric circulation:

Low pressure depression formation.

Mitigating climate change:

St Jude. Adapting to climate change:

Climate change and tropical storms:




Hazards Diagrams to label

Structure of the Earth _F 0-100 km R®® // stard tover
most solid mantle)
5100 km
Solid
Not to scale
6378 km
To scale

Composite Volcano

Tall cone

Shield Volcano




Hazards Diagrams to label

Earthquake

Tropical Storm

—- cold air
—- Warm air




Hazards Diagrams to label

Descending
cooler, dry air

Rising warm,
moist air

Global Atmospheric
Circulation model

North Pole

Descending
cooler, dry air

Rising warm,
moist air

South Pole

Climate Change

|
é!‘::

/ Animals and plants
need a certain climate
to live in. Some will
not get used to new
changes in the climate
and could die out.

) elimate change will lead \
to floods, droughts,
hurricanes and the

¥ v . , {f 9 spread of tropical
the Earth o > 4 dlbseases




The challenge of natural hazards

@

Ravishan

[Egl=1-1gi=ld-ay

Natural hazords

| can define a notural hazard ond give socme exomples of fhe different types.

| can explain the different foctors that affect nisk.

Tectonic hoarards

| can descrle the distibuficn of earthguakes ond volcanoes.

| xplain the differences between destructive, constrective ond conservative
plofe margin:.

| brcrar the mcin features of an earthguake and two different ways of
measuring ecrthgualkes.

Lisingg maamed sxamples of o tectonic hazord in lboth rich and poor countries. |

Carn:
1] Exploin winy the tectonic hazard hoppened thers,

2] Descsibe the effects that resulfed fromn the earthquakes kofh primory and
secondary.

3] Describs whaot was donse after the earthguake [responses), both in the long
and short ferm.

| —=an explain why earthguakes cause more loss of life in poor than in kch
courfries.

| can exploin why people confinue to ve in arecs of risk of tectonic hozards.

| can exploin how monitoring, planning aond prediction of tectonic haozards can
reducs ther effecis.

Weather hazoed

| zan descrilze the global atmiosphenc circulation model.

| —an explain how the global atmospheric circulagfion model affects weather
arcund the workd,

| zan descrilbe the distilbuficn of tropical storms.

| can exploin the causes of o fropical stormn.

Lising g nomed Ex::lrrplg_ can descrilze and explain the prirnany and
secondary impacts of tropical storms.

can asses:s and evaluote methods of responszes ropical storms in octh the
ang and the short term using o nomed exomple.

| can exgloin how tropical storms might be affected by global wwarmning.

| can explain how monitoring, planning ond prediction of fropical storms can
reduce ther effecis.

| can exploin the cause of an exdireme weather event using on exompls.

| —=an descriibe and expel the social, economic and emvironmental using an
sxample.

| can identify evidence of fhe weother becoming more extrers using an
SxamEle.

| can exploin how exfrems events con be manoged to reduce the impocts.

| =an azzesz= and evaluate the impact that weather conditicns hawvs upon

D&GEIE [al=] e, 'vesl GEI"iDLlH'JrEi h=alth aond fra nsport

Climate cha nge

| can explain the evidence both for and agoinst climate change.

| can explain both fhe noteral ord uman cavses of cimafe change.

| c:an assess and evaluote the economic, social, emvironmental and politico
impocts of climote change both on the world and the UE.

| zan descrloe and evaleate the mitigation strafegies used to reduce the
mpoct of globol climate change on o locaol, naticnal and infernaticnal lewvel,

| can descrilne and evalueate the adapfion strategies vsed fo reduce the

impoct of Eli:-cn: climaote cha nge oo |DC:CI|I naticnal ond imfermaticnal lews!.




Mitigation is an effective way of managing tectonic hazards. Discuss this statement.

Using your own knowledge, suggest how communities can protect themselves from tropical storms

Human activity is the main cause of climate change. Use evidence to support this statement.

Living by a constructive boundary is less hazardous than living on a destructive plate boundary. To
what extent do you agree with this statement?

Primary impacts are more damaging than secondary impacts during tropic storms. Discuss the
statement making reference to one or more example.

Green technology will make climate change a problem of the past. To what extent do you agree
with this statement?




Biodiversity

The variety of life in the world or 3 particular habitat.

Commercial farming
Farming to sell produce for 3 profit to retailers or food processing companies.

Debt reduction

Countries are relisved of some of their debt in return for protecting their rainforests.

Deforestation
The chopping down and removal of trees to clear an area of forest.

Ecotourism

Responsible travel to matural areas that conserves the environment, sustains the wellbeing of the local people,
and rmay invalve education. It is usually carried out in small groups and has minimal impact on the locsl
ecosystem.

Logging

The business of cutting down trees and transporting the logs to sawmills.

Mineral extraction

The removal of solid mineral resources from the earth. These resources include ares, which contain
commercially wvaluable amounts of metals, such as iron and aluminium; precious stones, such as diamonds;
building stones, such as granite; and solid fuels, such as cozl and oil shale.

Selective logging
The cutting out of trees which are mature or inferior, to encourage the growth of the remaining trees in a forest
ar wiood.

50il erosion

Removal of topsoil faster than it cam be replaced, due to natural [water and wind action), animal, and human
asctivity. Topsoil is the top layer of =oil 2nd is the most fertile because it contains the maost organic, nutrient-rich
materials.

Subsistence farming
Atype of agriculture producing food and materizls for the benefit only of the farmer and his family.

Sustainability
Actions and forms of progress that meet the needs of the present withowt reducing the ability of future
generations to meet their needs.



Living World Knowledge Organiser

Ecosystem:
Biome:

Biotic factor:
Abictic factor:
Food chains:
Food webs:

Food pyramids:

A small-scale UK ecosystem:

Rainforest location:

Climate:

Mutrient cycle:

Rainforest stratification:
Emergent:

Cancpy:

Under canopy:

Shrukb level:

Mutrient cycle:

TRF plant adaptations

TRF &nimal adaptation:

Factors controlling biome distribution:

Biome characteristics:

Global patterns of defarestation:

Why should the rainforest be protected?




Amazon rainforest:

Reasons for deforestation:

Impacts of deforestation.

Sustainable rainforest management:

Selective logging:
Conservation/education:
Ecotourism:

Internaticnal agreements:

Debt reduction:

Hot deserts:
Location:
Climate:
Soil:

Mutriemnts:

Desert plant adaptations:

Desert animal adaptations:

Hot desert case study

Location:

Opportunities:

Challenges:

Desertification:

Areas at risk:

Causes:;

Impacts:

Managing desertification:




The Living world

Reviion underaken

Usirg an examnicle from the UK, | con explain the interelofionship within fhe natural system.

can define and give UK exampie: of producers consumers, decomposer, food chain, focd web
o nuitient cycle

can exziain ther interdependence of each of the above and explgin how changes mignt affect
=0ch other.

descrioe the disfribution and charactenstics of global ecosystems around the word,

Tropical rainforests [core content)

can descrice the physical charocreristizs of the fropical rainforests

can exglagin the inferdependence of the climate, water, scils, plonts, animal: and pecple ina
tropical rainfonest

can expldin how plants and animas have odapled to the phiysica conditions of fropica
rainforests.

can descrice and explan the problems and sxoes with changng biodiversity within fhe fropica
rainforest.

can descrice and explan the chnanging rares of deforestation.

COn UEe @ coie studhy to explain fhe causes of deforeshation
susistEnce and commercial famning,
Logging,
Road Buikding
iineral Exfraction
Energy Development,
EEtmament
Populkation Growth

OB b

Can Upe g core shudhy to explain the nmpacts of deforeshafion
1. Economic dewslopment
2. "ci erosion,
5. Confribuficn to climate change.

an explain the II'I"F'"-I'G"ICF' and value of the mapE ical rainforest on o local, naficral and
ﬁTE""ICITDF‘D 2Cae.

can exslain winy itis important the mopical rainforest shoukd o= managed sustainably.

can explain how the rogical rainforest con be managed sustainaoly using arange of metnods
1. Eelective logging and replanfing

2. Consenafion and education

5. Ecotourism

4. Intematicnal ogreements about the uwse of ropical hardwoods,

5. Debf reduction

Hot deserts [option)

can descrice the physical charocrenstics of the not gesen

can exglgin the inferdependence of the climate, water, soils, plants, anmals and pecple ina hot
oot

o explain howe plants and animas hawe odapled fo the physical condifions of ot deserts

can descrice and explain the problems and ssees with changing biodiversity within the hot gasert.

uzs g came shudy to explain the causes of desaedification
sistence and commercial famning,
. Minenal Extraction
2. Energy Develocpment
5. Faming
4. Tourism

COn UEe O coie study to explain fhe challengss of desedification
Zxireme temperature
2. Wgler supply
3. Inoccessoiity

define and descrice deserification

con explain the couses of deserfificofion both hurman and natura

can exglain a how deserification can o2 managed using:
Wwater and soil manosgement
2. Tres planting
5. Using appropriate technology




Living World Diagrams to label

Structure of the Earth

Rainforest Cycles

Rainforest water cycle 1 Rainforest nutrient cycle




Living World Diagrams to label

Camel adaptations

Cactus adaptations




Practice 6 and 9
Markers: Living World

Tropical rainforests can benefit from tourism — Suggest how this can be achieved. 6
The challenges of living in deserts outweigh the benefits. Explain how people can overcome these 6
challenges.

Explain how a named animal has adapted in order to survive in either a tropical rainforest or a hot 6
desert.

To what extent does intergovernmental management help to protect rainforests? 9

To what extent can deforestation be effectively managed in LICS? 9

To what extent can desertification be managed? 9




Abrasion
The wearing away of cliffs by sediment flung by
breaking waves.

Arch

A wave-eroded passage through a small headland.
This begins a5 a cave formed in the headland, which is
graduzlly widened and deepened until it cuts through.

Attrition

Erosion caused when rocks and boulders transported
by waves bump into each other and break up into
smaller pieces.

Bar

Where a spit grows across a bay, a bay bar can
eventually enclose the bay to create a lagoon. Bars
can also form offshore due to the action of breaking
Waves.

Beach

The zone of depasited material that extends from the
lows water line ta the limit of storm waves. The beach
or shore can be divided in the foreshore and the
backshore.

Beach nourishment

The addition of new material to a beach artificially,
through the dumping of large amounts of sand or
shingle.

Beach repmﬁlingi

Changing the profile or shape of the beach. It usually
refers to the direct transfer of material from the lower
to the upper beach or, occasionally, the transfer of
sand down the dune face from crest to toe.

Cave
A large hole in the diff caused by waves forcing their
way into cracks in the cliff face.

Chemical weathering

The decomposition (or rotting) of rock caused by a
chemical change within that rock; sea water can cause
chemical weathering of diffs.

Cliff
A steep high rock face formed by weathering and
erosion along the coastline.

Deposition
Occurs when material being transported by the sea is
dropped due to the sea losing energy.

Dune regeneration

Action taken to build up dunes and increase
vegetation to strengthen the dunes and prevent
excessive coastal retreat. This includes the re-planting
of marram grass to stabilise the dunes, as well as
planting trees and providing boardwalks.

Erosion
The wearing away and removal of material by a
maving force, such as a breaking wave.

Gabion
Steel wire mesh filled with boulders used in coastal
defences.

Groyne

A wooden barrier built out into the s2a to stop the
lengshore drift of sand and shingle, and 50 cause the
beach to grow. [tis used to build beaches to protect
against cliff erosion and provide an important tourist
amenity. However, by trapping sediment it deprives
another area, down-drift, of new beach material.

Hard engineering

The use of concrete and large artificial structures by
civil engineers to defend land against natural erosion
processes.

Headlands and bays

A rocky coastal promontory made of rock that is
resistant to erosion; headlands lie between bays of
less resistant rock where the land has been eroded
back by the sea.

Hydraulic power



The process by which breaking waves compress
pockets of airin cracks in @ cliff. The pressure may
cause the crack to widen, breaking off rock.

Landscape
An extensive area of land regarded as being visually
and physically distinct.

Longshore drift

The zigzag movement of sediment along a shore
caused by waves going up the beach at an obligue
angle(wash) and returning at right angles{backwash).
This results in the gradual movemeant of beach
materizls along the coast.

Managed retreat

Allowing cliff erosion to ocour as nature taking its
Course; erosion in some areas, deposition in others.
Benefits include less money spent and the creation of
natural environments. It may involve setting back or
realigning the shoreline and allowing the sea to flood
areas that were previously protected by
embankments and seawalls.

Mass movement
The downhill movement of weatherad material under
the force of gravity. The speed can vary considerably.

Mechanical weathering

Weathering processes that cause physical
disintegration or break up of exposed rock without
any change in the chemical composition of the rock,
for instance freeze thaw.

Rock armour
Large boulders dumped on the beach as part of the
coastal defences.

Sand dune
Coastal sand hill above the high tide mark, shaped by
wind action, coverad with grasses and shrubs.

Sea wall

A concrete wall which aims to prevent erosion of the
coast by providing a barrier which reflects wave
ENEergy.

Sliding

Ocours after periods of heavy rain when loose surface
material becomes saturated and the extra weight
causes the material to become unstable and move
ragidly downhill, sometimes in an almost fluid state.

Slumping

Rapid mass movement which invalves a whole
segment of the cliff moving down-slope along a
saturated shear-plane or line of weakness.

Soft engineering
Managing erosion by working with natural processes
to help restore beaches and coastal ecosystems.

Spit

A depaositional landform formed when a finger of
sediment extends from the shore out to sea, often at
a river mouth. It usually has a curved end because of
oppasing winds and currents.

Stack

Anisolated pillar of rock left when the top of an arch
has collapsed. Over time further erosion reduces the
stack to a smaller, lower stump.

Transportation
The movement of eroded material.

Wave cut platform
A rocky, level shelf at or around sea level representing
the base of old, retreated diffs.

Waves

Ripples in the sea caused by the transfer of energy
from the wind tlowing over the surface of the sea.
The largest waves are formed when winds are very
strong, blow for lengthy periods and cross large
expanses of water,



Coasts

Constructive waves:

Destructive waves:

Erosion is...

Gealogy of the UK: Hydraulic action:

Morth and west: Abrasion:

South: Attrition:

Tees Exe Line: Salution:

How do waves form? Weathering is....
Mechanical:
Biological:

Why do waves break? Chemical:
Transport:

The size of a wave depends on: T
Saltation:
Suspension:

Parts of a wave: soliatian:

The shape of the coast depends on:

Mass movement:

Deposition occurs when...

Headlands and bays:

Bofore

Wave direction

After




Caves, arches, stacks and stumps:

Wave cut platforms:

Spits:

Holderness coast;

Hard engineering:

Soft engineering:

Sand dunes form when:

Stages of sand dune formation:

Embryo Yellow
Dune
Fore

Marram grass:




Physical Environments in the UK (Coasts)
Diagrams to label

Original shape

Chalk Headland of headland

Wave-cut platform
exposed at low tide

Long Shore Drift




Coastal
Management

The Formation of a Spit

N
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Photograph

are known as Rock armour.

|]— Facts Lifespan Cost
(approx. years)
There are many different types
of sea walls: sloping, curved, stepped and
vertical. They are made of concrete or
stone. They stop the sea reaching the cliff 100 £3500 - £5000
base and reflect wave energy. per metre
b (wooden) These reduce
longshore drift by trapping sediment on
one side. This builds up the beach, which £1000
acts as a natural barrier to erosion by 30-40
absorbing the wave energy. permetre
(rock) These reduce longshore
drift by trapping sediment on one side.
They are made of granite or other hard £1000
igneous or metamorphic rocks and so last 100 per cubic
8% | up to three times longer than wood. metre (m?)
is made from huge boulders
of granite or other hard igneous or
metamorphic rocks. They are placed at the £1000
base of cliffs to absorb the energy of the 120 per cubic
waves but let the water drain through them. metre (m3)
These are cages of stones. They
can be used to stabilise cliff bases and to
absorb the energy of the waves. They are .
a short term measure as they are easily 5-10 £30 per cugxc
damaged by storm waves and the cages metre (m)
rust.
These are sloping features
which absorb the energy of the waves but Wooden £800
which let water and sediment through. 10 per metre
Older revetments were made of wood.
Some modern ones have shaped concrete Rock armour £1200
or stone blocks laid on finer material and 30 per metre




Abrasion
Rocks carried along by the river wear down the river bad
znd banks.

Attrition
Rocks being carried by the river smash together and
break into smaller, smoother and rounder particles.

Cross profile
The side to side cross-saction of a river channel and/or
valley.

Dam and reservair

A barrier {made on 2arth, concrate or stone] built across
awvalley to interrupt river flow and create 2 man-rnahe
lake (reservoir] which stores water and controls the
discharge of the river.

Discharge
The guantity of water that passes a given point on 2
stream or river-bank within a given period of time.

Embankments

Raized banks constructed along the river; they
effectively make the river deeper so it can hald more
wiater. They are expensive and do not look natural but
they do protect the land around them.

Estuary
Thie tidal mouth of & river where it meests the sea; wide
banks of deposited mud are exposed at low tide.

Flood
Cccurs when river discharge exceeds river channel

capzacity and water spills out of the channel onto the
flzodplzain and other aress.

Flood plain
The relatively flat srea forming the valley floor on either
side of 2 river channel, which is sometimes flooded.

Flood plain zoning

Thiz attempts to arganise the flood defences in such =2
way that land that is near the river and often floods is
not built on. This could be used for pastoral farming,
playing fields etc. The areas that rarely get flooded
would therefare be used for houses, tramsport and
imdustry.

Flood relief channels

Building new artificial channels which are used when a
river is dose to maximum discharge. They take the
pressure off the main channels when floods are likehy,
therefore reducing flood risk.

Flood risk

The predicted frequency of floods in am area.

Flood warning

Providing relizble adwvance information about possible
flaoding. Flood warning systems give people time to
remove possessions 2nd evacuate areas.

Fluvial processes
Processes relating to erosion, transport and deposition
by a river.

Gorge
A narrow, steep sided valley, often formed as a waterfall
retreats upstream.

Hard engineering

Invalves the building of entirely artificial structures using
various materizls such as rock, concrete and stesl to
reduce, disrupt ar stop the impsact of river processes.

Hydraulic action

The force of the river against the banks can cause air to
b= trapped in cracks and crevices. The pressure weskens
the banks and gradually wears it away.

Hydrograph
A graph which shows the discharge of a river, related to
rainfall, over 2 period of time.



Interlocking spurs
A series of ridges projecting out on alternate sides of 2
walley and around which a river winds its course.

Lateral erosion

Sideways erosion by 3 river on the outside of 2 meandear
channel. It eventually leads to the widening of the valley
and contributes to the formation of the flood plain.

Levees

Embankment of sediment along the bank of a river. It
miay be formed naturally by regular flooding or be
built up by peogle to protect the area against
flooding.

Long profile

The gradient of a river, from its source to its mouth.

Meander
A pronounced bend im 2 river.

Ox-bow lake
Am arc-shaped lake which has been cut off from a
meandering river.

Precipitation
Moisture falling from the stmosphers - as rain, hail, slest
O SMawW.

Saltation
Particles bouncing down the river bed.

Soft engineering

Involves the use of the natural envireonment surrounding
& river, using schemes that work with the river's natural

processes. Soft engineering is usually much cheaper and
affers a more sustainable option 2s it does not interfere

directly with the river's flow.

Solution
Soluble particles are diszolved into the river.

(Channel) straightening

Removing meanders from 2 river to make the river
straighter. Straightening the river (zlso called
channelizing) allows it to carry more water quickly
downstream, 50 it doesn't build up and is less likely to
flood.

Suspension
Fine =zolid materizl held in the water while the water is
maving.

Traction
The rolling of boulders and pebbles along the river bed.

Vertical erosion
Downward erosion of a river bed.

Waterfall

Sudden descent of a river or stream over a vertical or
very steep slope in its bed. It often forms where the
river meets a band of softer rock after flowing over an
area of more resistant material.



Rivers

upper course “

Long profile of a river:

middle covrse " lowes course

V shaped Valleys:

Waterfalls:

Meanders:

Lower course features:
Floodplains:
Levees:

Estuaries:

River Tees:




The Storm

d

Physical factors affecting flooding:

Geology:

Relief:

Precipitation:

Human factors affecting flooding:

Urbanisation:

Deforestation:

Farming:

Hard engineering:

Soft engineering;

2007 floods.




Eh:.[si:r.ll landzcapes in the UK

Revizion
urdsrtaken

can descrice the location of e major upland and lowiand areas within the UK

can descrice the location of the major feer systens within the U

Coasial londscapes of the UK

can define what the coost s

can descrice and explan the different types of waves

c:an name and explain the four processes of erosion

can name and explain the processe: of weathering

an name and expiain the processes of mass movement

can descrice erosional landhorms and the sequence of lanch, cowves, stacks, stump, wave cut
platforms, wiove cut notch) are formed.

oon desorioe and explan the proces: of moss movement ond slumping

C:an explain, using an example. howe expsion and deposifion wil impact on the people and the
emifonment ait the comst.

oan desoroe the processes of transportation in the coastal zone. [Longsnore dift and traction,
sartation, suspension and solution]

(1]

an exgiain the reasons why sediment s deposited on the coost,

can exziain how depositional landforms [Deoches, spit and Dars) are formned.

can descorice and explan methods of hard and soft engineering usng on examicle,

can evaluate the cost ard oenefits of hard and soft engineering wsing an exampois.

can exglain whiy people have diferent Wviews aicout the vy the coosf in managed and the
conficts his roy couss using an exarmpss.

can igentify onan O map all of the coostal londforms and wse 4 £ 4§ fig grid references 1o locare
Tnem on a map

Eiver landscapes of the UK

can desoroe how a ivers long profle ard cross profile wanes owver 15 course

can exziain how vertical and lateral 2roson changes the cross profis of g fver

oon explain the fowr proces:s of erosion

can desonioe the fowr processes of fransporbafion in a river

Can exslain the reascns why a fiver depasits its enoded miotedal

can exzlain hov interdocking spurs, walerfolls £ gorges ars formead

caon explain that meanders ore formed oy ercsion & deposition

caon descrice an Ox Bow lake and explan how they formn from meanders

can exzlain how o fleod plain, 1svee and estuares ore fommed

can yse an example of a nver valey to gemonsirate my understanding of the ercaonal and
depositional londfomns

c:an explain how physcal and hunnan factors affect the rsk of fliooding including precipitafion,
geclogy. reiisf and land use.

can exzlain wihat dver discharge means & how it is shown on a lydrograph

C:an explain Ot lecst £ factors (things!] thar will 2ither increase or decrease river dischorge

can explain how hard engineening can reduce the sk of ficoding or the effects of ficoding

can exziain how soft engineering can reduce the rzk of ficoding or the effects of flooding

Usirg an examnicle | can expkain
Wiy the scheme was required
2. Howw the area was managsd
5. The social. environmentol ong economic sssss.

c:an igentify onan © map all of the river landfonrms and wee £ & § fig grid references 1o lopate
them ona map.




hV/Si@ |J|- @IJ scapes
in the UK

Human actions are more significant than physical causes of flooding in the UK. Do you agree? Give
an example in your answer.

Explain how the processes and landforms of river change along its long profile.

Erosion is the most significant factor in shaping coastal environments in the UK. Do you agree?
Give an example in your answer.

Explain how soft engineering can be an effective in slowing down coastal erosion.

9 mark questions do not appear on this unit




Brownfield site

Land that has been used, abandoned and now awaits some new use. Commonly found across urban areas,
particularly in the inner city.

Dereliction
Abandoned buildings and wasteland.

Economic opportunities
Chances for people to improve their standard of living through employment.

Greenfield site

A plot of land, often in a rural or on the edge of an urban area that has not yet been subject to any building
development.

Inequalities

Differences between poverty and wealth, as well as in peoples’ wellbeing and access to things like jobs,
housing and education.

Integrated transport systems

When different transport methods connect together, making journeys smoother and therefore public
transport more appealing.

Mega-cities
An urban area with a total population in excess of ten million people.

Migration
When people mowve from one area to another. In many LICS people move from rural to urban areas (rural-
urban migration).

Natural increase
The birth rate minus the death rate of a population.

Pollution
The presence of chemicals, noise, dirt or

Rural-urban fringe

A zone of transition between the built-up area and the countryside, where there is often competition for
land use.



Sanitation

Measures designed to protect public health, including the provision of clean water and the disposal of
sewage and waste.

Social deprivation

The degree to which an individual or an area is deprived of services, decent housing, adequate income and
local employment.

Social opportunities
Chances for people to improve their quality of life, for instance access to education and health care.

Squatter settlement
An area of poor-quality housing, lacking in amenities such as water supply, sewerage and electricity,

Sustainable urban living

A sustainable city is one in which there is minimal damage to the environment, the economic base is sound
with resources allocated fairly and jobs secure, and there is a strong sense of community, with local people
involved in decizions made.

Traffic congestion

Occurs when there is too great a volume of traffic for roads to cope with, so traffic jams form and traffic
slows to a crawl.

Urban greening
The process of increasing and preserving open space such as public parks and gardens in urban areas.

Urbanisation

The process by which an increasing percentage of a country's population comes to live in towns and cities.
Rapid urbanisation is a feature of many LICs and MEEs.

Urban regeneration

The revival of old parts of the built-up area by either installing modern facilities in old buildings (known as
renswal} or opting for redevelopment.

Urban sprawl
The unplanned growth of urban areas into the surrounding countryside.

Waste recycling

The process of extracting and reusing useful substances found in waste.



Urban Issues

Rates of urbanisation:

Urbanisation is....
In HICs:

Matural increase is...
In LICs:

A megacity is..

Rural to urban migration is....

Pull factaors:

Push factors:

My LIC/NEE case study is

Location:

Why is this place important?

What are the opportunities here?

What are the challenges?

How does urban planning aim to develop this place?

My HIC case study is

Location:

Why is this place important?

What are the opportunities here?

What are the challenges?




Sustainable urban living is..... An integrated urban transport system is.... My example of an urban regeneration project is....
My case study is...

The four strands of sustainability are:

My sustainable urban living case study is:

Water conservation:
Brownfield land is....

Greenfield land is....

Energy conservation:
The greenbelt is...

Advantages of building on greenfield land:

Creating green space:

Disadvantages of building on greenfield land:

Advantages of building on brownfield land:

Waste recycling:

Disadvantages of building on brownfield land:




Urban issves and challenges

Coesred
[E=la ot

Hevizion
Undartakan

| =an exploin how wrbanisaticn hos happened ot different rofes and at different fimes
in different parts of the world making reference to LICs and HICs.

| zon exploin some of the couses of wrbanisafion in different pars of the word making
reference to LiCs and HIC:.

Case study of the LIC or MEE

| zan exploin why it & imporfant notionally ond internafionalby

| con explain why and how it has groswn

| =an exploin, analyse and evaluate the opportunifies incleding:
Aocess fo sendoces — health

Aoces: to services - education

Aocess to resources - water supply

& - Energy

e LI k3 a

Aocess to rescurces

[45]

Homw urioon industricl areas can premote economic development

| =an exploin, analyse and evaluate the challemges including:

Maonaging udzan growth — slurns, sguatter setflements

Clear water, sonifation systerms and enerngy

Aocess to sepices — health and eduecation

Unemgloyment and crime

Maonaging environmental izsues — waste disposal, o ond water polluticn,
traffic congestion.

e LI R3 a

[45]

| con exploin and evaluation the how this ploce con plon to improve the quality of
lives for the wrban poor.

Case study of a HIC - London

| =an exploin why London i= imporiont notionally cond intfernaficnally

| con explain why and how London hos groween:

| zan explain the impact of national and infemaficnal migeation on the growth and
characier of the London.

| con exploin, analyse and evaluatficon the opportenifies in Lendon including
Cultfural mice

Recreafion

Entertainrnent

Ernployrnent

5. Integroted transport systems

Urioan greening

e L3 k3 J

[=5%

| zon exploin, analyse and evaluaticon the challenges in London incheding
nequalities in howsing, edecation and employment.

2. Uroan deprivation

3.  Derelicfion of buildings

4. Building on brown and Greenfield sites.

5. Water disposa

5. Urban sprowl on the rural — udoon fringe ond of commuter fowns

| can exploin, analyse and evaluation fhe how London has undergone regenerafion.

Urban sustoinakdity

| zon descsiioe how peopls can ive more sustainabhy

| =an exploin how sustainable urban living con conserve water ond energy, recycle
waster and create more green space.

| con exploin how wrban transport strategies are wsed to reduce troffic congestion.
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Practice 6 and 9
Markers: Urban Issues

Discuss how migration has affected the character of a city you have studied. 6
Discuss the main causes of urbanisation in LIC/NEE cities. 6
Suggest why greenfield developments have less of an environmental impact than brownfield 6

deelopments.

Discuss the opportunities and challenges faced by a city in an LIC/NEE that you have studied. 9

Evaluate the effectiveness of an urban transport scheme you have studied. 9

For a UK city you have studied, discuss the role redevelopment has had on improving it. 9




birth rate

The number of births in 3 year per 1000 of the total
papulation.

Commonwealth

The Commonwealth is a voluntary association of 53
independent and equal sovereign states, which
were mostly territories of the former British
Empire. Itis home to 2.2 billion citizens. Member
states have no legal obligation to one another.
Instead, they are united by language, history,
culture, and their shared values of democracy,
human rights, and the rule of law.

Death rate

The number of deaths in a year per 1000 of the
total population.

De-industrialisation

The decline of a country's traditional manufacturing
industry due to exhaustion of raw materials, loss of
markets and competition from NEEs.

Demographic Transition Model

A model showing how populations should change
over time in terms of their birth rates, death rates
and total population size.

Development

The progress of a country in terms of economic
growth, the use of technology and human welfars.

Development gap
The difference in standards of living and wellbeing

between the world's richest and poorest countries
(between HICs and LICs).

European Union

An international organisation of 28 European
countries, including the UK, formed to reduce trade
barriers and increase cooperation among its
members. Seventeen of these countries also share
the same type of money: the euro. A person whao is
a citizen of a European Union country can live and
work in any of the other 27 member countries
without needing a work permit or visa.

Fairtrade

When producers in LICs are given a better price for
the goods they produce. Often this is from farm
products like cocoa, coffee or cotton. The better
price improves income and reduces exploitation.

Globalisation

The process which has created a2 more connected
world, with increases in the movements of goods
(trade) and people (migration and tourism)
worldwide.

Gross national income (GNI)

A measurement of economic activity that is
calculated by dividing the gross (total) national
income by the size of the population. GNI takes into
account not just the value of goods and services,
but also the income sarned from investments
OVErseas.

Human Development Index (HDI)

A method of measuring development in which GDP
per capita, life expectancy and adult literacy are
combined to give an overview. This combined
measure of development uses economic and social
indicators to produce an index figure that allows
comparison between countries.

Industrial structure

The relative proportion of the workforce employed
in different sectors of the economy {primary,
secondary, tertiary and quaternary).



Infant mortality

The average number of deaths of infants under 1
year of age, per 1000 live births, per year.

Information technologies
Computer, internet, mobile phone and satellite
technologies — especially those that speed up
communication and the flow of information.

Intermediate technology

The simple, easily learned and maintainad
technology used in @ range of economic activities
serving local needs in LICs.

International aid

Money, goods and services given by the
government of one country or a multilateral
institution such as the World Bank or International
Monetary Fund to help the quality of life and
economy of another country.

Life expectancy

The average number of years a person might be
expected to live.

Literacy rate
The percentage of people who have basic reading
and writing skills.

Microfinance loans

Very small loans which are given to people in the
LICs to help them start @ small business.

North-south divide (UK)

Economic and cultural differences between
Southern England (the South-East, Greater London,
the South-West and parts of the East) and Morthern
England {the Morth-East, West and Yorkshire and
the Humber). There are clear differences in health
conditions, house prices, earnings, and political
influence.

Post-industrial economy

The economy of many economically developed
countries where most employment is now in service
industries.

Science and business parks

Business Parks are purpose built areas af offices
and warehouses, often at the edge of a city and on
a main road. Science parks are often located near
university sites, and high-tech industries are
established. Scientific research and commercial
development may be carried out in co-operation
with the university.

Service industries (tertiary

industries)

The economic activities that provide various
services - commercial (shops and banks),
professional (solicitors and dentists), social (schools
and hospitals), entertainment {restaurants and
cinemas) and personal (hairdressers and fitness
trainers).

Trade

The buying and selling of goods and services
between countries.

Transnational Corporation (TNC)

A company that has operations (factories, offices,
research and development, shops) in more than
one country. Many TNCs are large and have well-
known brands.



Demographic
Transition Model

The demographic transition in 5 stages

Changing Economic World
Diagrams to label

40 |

w
(=]

[+
o

Birth and death rates
{per 1,000 people per year)

-
=]

Stage 1

Birth rate |High

Death rate High

Natural increase

Population
Pyramid

Men Wornen

QurWorld
in Data

Stage 2

High

Falls rapidly

Men

Stable or slow increase  Very rapid increase

Wamen

Stage 3 Stage 4 Stage 5
Falling Low Rising again
Falls more slowly Low Low

Falling and then stable  Stable or slow increase

Men Warman Men

Increase slows down

Man Wornen Wamen

The author Max Roser licensed this visualisation under a CC BY-3A license. You find more information at the source: hittpl//www.QurorldinData.org/world-population-growth

Clark Fisher Model

Sector percentage of employment in UK

60 -

1800 AD
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CHANGING ECONOMIC WORLD

HIC =
LIC =
NEE =

Methods of measuring development

Most useful =

Reducing the development gap
Industry —

Tourism —
Investment —
Aid —
Fairtrade —
Microloans —

Debt relief -

Case study of NEE: Nigeria
Location

Importance within Africa and Within the World

How is its industrial structure changing?

How are TNCs involved in the changes?
Positive / Negative

Aid and its impacts on the country

Economic / Environmental impacts of development




CHANGING ECONOMIC WORLD

The UK:
Recent economic changes

Deindustrialisation and its impacts

Post industrial economy

Science and business parks

Service industry development and impacts

Growth of research and financial jobs

Change in landscape from industrial to post industrial
How?

Advantages

Changes to the rural landscape and economy

Transport developments: Rail, Road, Air, Ports
HS2

Crossrail

Heathrow

London Gateway Port

The North/South divide — Causes and consequences
How can it be resolved?

The UK’s place in the world
Internal links — city to city

European links — what happens after Brexit?

UK place in the world




The changing economic world

| zan describe the methods of classifying countrizs and uze different development
indicators.

can evaluate the use of different developmental indicotors.

| zan uz= the Demographic Transiicon Model to exploin the link betasen changing
population strocture and level of development.

| zon exploin the causes of uneven development:
Phyzical
2 BEcornomic
3. Hitorico

| zon exploin the impacts of uneven development on people

| zon exploin how the development gap can e reduced looking ot

. Investment
2 Industial develcpment and tourism
3. Aid
4. =ing infermnadiote fechnology
5. Fairrads
G, Ot relief
F. Micrcfinance loans.

| can vss an exomple to show how toursm inan LIC can help fo reduce the
develcpment gap

Case study of the LIC or MEE— H'Eerii:

| can explain wiy Micsrig & imporfant within Africo and infermoticnoly

| con descriioe the politicod, socicl ond culture contact of Nigerig within a world conbesxt.

| con descriioe the chonging indusirial struchere within in Nigerio.

| zan explain how manufactuning con stirmulate economic growth in esthin Nigera.

| zan define o Transnoticnal Conporation (THC) wsing a cose sfudy.

| zon exploin the cdwvantoged aond disodvantages of TMCE to Migeno

| con descriioe how Migedia's polifics ond trading relotionship howve changed over fime.

| can described what aid is where i comes from using g cose study.

| con explain whot aid Migera hos received and how it has "'r.:lv::'e-:i upon the country
Using o case study,

| con exploin and evaluction the environmental impoct: of economic development.

| zan exploin and evaluation imoocts of economic development on the population of
India

Econcrmy of the UK

| zan exploin why deindustrialisation hos cocwred in the UK

| zon exploin the cdwantoges ond disodvantages of the UK move in the terfiony sector [
post-industrial econony

| can explain, wsing an exampls, how modern industry can reduce ifs impact upon the
ervironment and become more sustainable

| con exploin, wing an exampls, the social and econcmic impacts of populaticn growth
on a rural landscape.

| con exploin, wsing an exampls, the sccicl and economic impact: of populaticn decline
or a rural landscape.

| zon descsiioe and exploin the impact o fronsport developments in rood, rail, pord ond
Qirpeorts.

| can dezcribe the Morth — South divide in the UK

| con evaluate and expdain the strategies wie to sclve regional differences within the LK.

| zon examine the global links made with the wider word through trade, culturs,
ncregsed communicotion, econcmics ond polifical grovpings such oz the
commonwealth and the Buwopsan Unicn.

| zon analyze the growing interdependence and globalisafion of the UK in relotion to s

SConomy ard E-cli'ica
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Practice 6 and 9
Markers:

Changing Economic World
@ @ )

&

Suggest how tourism can help to reduce the development gap in an LIC.

Explain why HDI (human development index) is a useful measure of development.

Describe how aid or Fairtrade is used to assist an named LIC.

To what extend have TNCs (Transnational corporations) help development in a named LIC/NEE?

What measures are being taken to help to close the North/South divide and how successful do you
feel they are?

What is deindustrialisation and how has it impacted on communities in the UK?




Agribusiness
Application of business skills to
agriculture,

Carbon footprint

A measurement of all the
greenhouse gases we individually
produce, through burning fossil
fuels for electricity, transpart i,
expressed as tonnes (or kg) of
carbon-dioxide equivalent.

Energy mix

The range of energy sources of a
region or country, both
renewable and non-renewable.

Food miles
The distance coverad supplying
food to consumers.

Fossil fuel

A natural fuel such as coal or gas,
formed in the geological past
from the remains of living
organisms.

Local food sourcing

A method of food production and
distribution that is local, rather
than national and/or
international. Food is grown (or
raised) and harvested close to
conzumers' hames, then
distributed over much shorter
distances.

Organic produce

Food which is produced using
environmentally and animal
friendly farming methods on
organic farms. Artificial fertilisers
are banned and farmers develop
fertile =il by rotating crops and
Using compost, manure and
Clover. It must be free of
synthetic additives like pesticides
and dyes.

Resource Management
The control and monitoring of
resources so that they do not
become depleted or exhausted.

Energy

Biomass

Renewable organic materials,
such as wood, agricultural crops
or wastes, especially when usad
a5 @ source of fuel or energy.
Biomass can be burned directly
or processed into biofuels such
as ethanol and methane.

Energy conservation
Reducing ensrgy consumption
through using less energy and
becoming more efficient in using
EXisTing energy sources.

Energy exploitation
Developing and using energy
resources to the greatest
possible advantage, usually for
profit.

Energy security
Uninterrupted availability of
energy sources at an affordable
price.

Fossil fuel

A natural fuel such as coal or gas,
formed in the geological past
from the remains of living
organisms.

Geothermal energy
Energy generated by heat stored
deep in the Earth.

Hydro (electric) power

Electricity generated by turbines
that are driven by moving water.

Nuclear power

The energy releasad by a nuclear
reaction, especially by fission or
fusion. Muclear energy uses fuel
made from mined and processed
uranium to make steam and
generate electricity.

Renewable energy

SOuUrces

A rezpurce which is not
diminished when it is used; it
recurs and cannot be exhausted
[for example wind and tidal

ENergy).

Solar energy

The Sun's energy exploited by
solar panels, collectors or cells to
heat water or air or to generate
glectricity.

Sustainable development
Development that meets the
needs of the present without
limiting the ability of future
generations to meet their own
needs.

Sustainable energy
supply

Energy that can potentially be
usad well into the future without
harming future generations.
Sustainable energy is the
comibination of energy savings,
energy efficiency measures and
technologies, as well as the use
of renewable energy sources.

Wind energy

Electrical energy obtained from
harnessing the wind with
windmills or wind turbines.



Resources and well-being:

Food, water and energy are unevenly distributed. Why?
Food:

Water:

Energy:

How has demand for food in the UK changed?

Impacts of imports?

Wmmvo:mmm"

Agribusiness:

Organic farming:

Alternatives to importing:

Why has demand for water changed in the UK?

Areas of demand and surplus:

Causes of water Impacts of water
pollution: pollution:

How has demand for energy in the UK changed?

UK energy mix:

Fossil fuels:

Economic issues: Environmental issues:

Muclear power:

How can water quality be managed?

Water transfer schemes:

Economic issues: Environmental issues:
Renewables:
Economic issues: Environmental issues:

Fracking:




Food.
Why is global consumption increasing?

Why is consumption unequal?

What is food security and how is it measured?

Factors affecting food supply:
Climate:

Technology:

Pests and disease:
Water stress:
Conflict:

Poverty:

Increasing food supply:
Aeroponics:

Hydroponics:

Green revolution:

Biotechnology:

Irrigation:

Appropriate technology:

What are the similarities between these strategies?

Sustainable food production:
Definition:

Permaculture:

Organic farming:

Local/seasaonal food:

Sustainable fish:

Urban farming:

Sustainable meat:

Impacts of food insecurity:
Famine:

Rising prices:

Conflict:

Desertification:

Almeria:

hm:,_m_niu




The challenge of resource management

Tavhion
urderiaken

| can descriibe the importonce of food, water and energy to the economic and sccial
wellbaing.

| can descrbe the distibution of resources around world.

| zan exploin why resources are unevenly distibuted arcund the waorld.

Rezowce manogement core content

| can descrlbe the distibbution of resources arcund the UK

| zan explain the changing demand for different foods in the UL

| zan explain why food miles are increcsing in the UL

| can exploin how food miles con be reduced in the LK

| can descrile the different industries invalved in agriculiure [ogribusiness| ond exolain
honee they are changing in the UK.

| zan exploin the changing demand for water in the UE

| zan descriioe the problems with water quality ond pollution in the UK and how they
c:an be rmanaged.

| can exploin how the UE i trving to manoge woter to meet supply and demand.

| can descrilze the UKs energy micx and how it has changed owver time.

| can explgin how the UK con reduce its relionce on fossil fuels.

| can descrilbe and exploin the economic and ervironmental Esues with exploitotion of
ENErgy SCOUFSEs.
d

Resource managernent option: Food

| can descrilpe the global distibbufion of food resowces both surplus and deficit

| can explain why food consumption trends are changing

| can exploin and evaluote the differsnt factor: which effect food awailability incloding:
* Climaote (deserificofion, hazords)
¢ Pesftz and diz=gse
¢ Technology
o Pollufion of supply

¢ Powarty
o Waoler supplhy
o Conflict

| can anclyse the mpocts of food insecurty including:
*» Farmine and undemutrition
*» Rizing prices
¢ Conflict ond social unrest
*  Envircnmental impacts

| can exploin and evaluate how food supplies con be manoged fo increase supply in
certain areas

| zan wss an exomple to show how food supply can be increcsed on o lorge scals

| can exploin how food rescurces con be maonoged sustainakbly

| can wss an exomple to show how food supply can be increased sustaing clw,-.r|
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Practice 6
Markers: Food

Challenge of Resource Management

>4

Explain how food production can be made sustainable. Use one example in your answer. 6
Explain what is meant by the term agribusiness and suggest how it benefits customers. 6
For a large scale agricultural production system, explain how it may have negative environmental 6
impacts.

Discuss the factors that affect the availability of food in an LIC. 6

9 mark questions do not appear on this unit
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The Crust

‘aries in thickness (3-10km| bensath
the ocean. Made up of several large
plates.

Widest lzyer [2500km thick). The hest
and pressure means the rock is ina
liquid state that is in a state of
convection,

The Mantie

Hottest section (5000 degrees). Mostly
made of iron and nickel and is $x
denser than the crust. Inner section is
sofid whereas outer layer is liquid.

The crust is divided into tectonic %ni—tn—..&ﬂn.in—.m? convection
currents in the mantle,

Radicactive decay of zome of the elements in the core and mantle
generste a lot of heat.

When lower parts of the mantle malten rock (Magma) heat up they
become less dense and slowly rise.

As they move towards the top they cool down, become more dense
and showty sink.

4 These circular movements of semi-melten rock are convection currents

this causes them to move.

'When the denser plate subducts beneath the other,
friction causes it to melt and become molten magma.
The magma forces its ways up to the surface to form a

walcang. Thiz margin is also responsible for devastating
earthguakes.

T = T =
Here two plates are mowving apart causing new magma
to reach the surface throwgh the gap. Volcanoes

formed along thiz crack cause a submarine mountain
range such as those in the Mid Atlantic Ridge.

A conservative plate boundary ocours where platas
slide past each other in opposite directions, orin the
same direction but at different speeds. Thisis
responsible for earthquakes such a5 the ones
happening along the 5an Andreas Fault, USA

Convaction currents create drag on the base of the tectonic plates and

Small pieces of pulverised rock and glass
which are thrown into the atmosphere.
Sulphur dicwdde, water vapour and
tarbon dioxide come out of the volano.
A volcanic mudfiow which usuzlly runs
dowm a valley side on the volcano.

A fazt moving current of super-heated
gas and ash [1000°C). They travel at
450mph.

A thick (viscous) lava fragment that is
gjectad from the volcano.

..HE!.... 7.9.mag earthguake, 15km deep, Bl fram:Kathmandu, Indo-Australian and
Eurasian plate colliding.

Effects Nanagement

9000 people killed, & million affected. Relied heavily on international aid, fisld
Mo basic needsfsanitation, hosgitals herspitals, social media used to find the
averdhelmed. Cost 85 billion. missing. Lang term — stricter building
Landsdides and avalanches triggered — todes, roads repaired, aid blacked,
killed 17 on Everest.

Why do people live in hazard zonesz?

Cost of relocation, fertile soils, employment, culture (Wt Merapij, sense of
safety mainly in HICs if there is earthquake resistant design. Tourism.
Geothermal energy (lceland — second largest seathermal power plant in the
world, being ussd to heat sreenhosues). Complacency — usuzlly amang

older generations [t 5t Helenz], mineral extraction.

A natural hazard B a natural process which could cavse death, injury or disrsption to
humans, property and possessions.
‘Geological Hazard Meteorological Hazard

These are hazards coused by weather
and dimate.

These are hazards caused by land and
tectonic processes.

Earthguakes are caused when two plates become locked causing friction to
build up. From this stress, the pressure will eventually be releaszed, triggering
the plates to move into 2 new pasition. This movement causes energy in the
form of seismic wawves, to travel from the focus towards the epicentre. Az 3
result, the crust vibrates triggering an ezrthquake.

The point directly abowve the focus, where the selsmic waves
reach first, is called the ERICENTRE.

SEISMIC WAVES {energy waves) travel aut from the focus.

The point at which pressure is released is called the FOCUS,

P
e —

Small earthquakes are causedas  Seismometers are used to detect
Magma rises up. earthguakes.
Thermal imaging and satellite
cameras can be used to detect heat
around a volcano.

Temperzatures around the volcano
rise a5 activity increases.

When 3 volcano is dose to erupting mmw.mm:ﬁ_m Sy e tethe A
R s chemical semsors used to measure
B ] sulphur levels.
Creating an excluzion zone around  Being ready and able to evacuate

the valcana. residents.
Having an emergency supply of  Trained emergency services and a
basic provisions, such as food good commaunication system.

u._-ﬂ_lﬂ__.! G

Methods include:

*  Sateliite surveying (tracks changes in the earth’s surface]

*  Laser reflector (surveys movement across fault lines)

*  Radon gas sensor {radon ga3s is relezsed when plates move so
this finds that}

*  Seismometer

*  Water table level (water levels fluctuste before 2n earthquake).

*  Scientists also use seismic records to predict when the next
event will oocur.

PROTECTION

You can't stop earthquakes, so =arthquake-prone regions follow
these three methods to reduce potentizl damage:

*  Building earthquake-resistant buildings

*  Raising public awareness

*  Improving earthguske prediction

HIC - C5¢ L Anquila, 2008,

Causes
plate. :

Effects

150 deaths, 57,000 homealess.
Bridges collzpzed. Cost £11.4
billion. Landslides. Population
decline.

Management:

Hotels provided sheltar for
10,000, train carriages usad to
house people, billz suspended,
free mobile phones, buildings
redevelopad but not made
earthguake resistant, scientists
sentto prison.



Atmospheric circulation is the large-scale movement of air by which heat is

distributed on the surface of the Earth.

Hadley Largest cell which extends
cell from the Equator to betwesn
30° to 40° north & south.

WMiddle cell where air flows
poleward between 60° & 707
Iztitude.

4

Smallest & weakness cell thet
ocours from the poles to the
Ferrel cell.

They are known by many names, Low High
cyclones {India) and typhoons {Japan
and East Asia). They all ocour in a band Caused by Caused by

that lies roughly 5-15° either side of the hot air rising. cold air

1 The sun’s rays heats large areas of ocean in the summer and autumn.
This causes warm, moist air to rise aver the particular spots

Once the temperature is 279, the rising warm maist zir leads to 3 low

2 pressure. Thiz eventually turns into a thunderstorm. This causes air
to b sucked in from the trade winds.

. With trade winds blowing in the opposite direction and the rotation
3 aof earth involved (Coriolis effect], the thunderstorm will sventuzslly
start to spin.

‘When the storm begins to spin faster than 74mph, 2 tropical storm
{such as a hurricane] is officially born.

With the tropical storm growing in power, more cood air sinks in the
5 centre of the storm, creating calm, clear condition called the eye of

the storm.
When the tropical storm hits land, it loses its energy source (the
[ warm ocean) and it begins to losa strength. Eventually it will ‘Blow

itzelf out'.

Scientist believe that global warming is having an .!iumnnn::.ﬂ
frequency and strength of tropical storms. This may be due toa
increase in ooean temperatures.

Fﬁﬁ: !“._..dl.u_unn.:ﬂ @

Prepari :wmo.. tropical storm

may imvolve construction
projects that will improve
protection.

Development
The zcale of the impacts
depends on the whether the

country has the resources cope

with the storm.

Prediction

Constant monitoring can help to

give advanced warning of 3
tropical storm

Aid invohees assisting after the
storm, commonly in LIDs.

Planning
Involves getting people and the
EMergency services ready to
deal with the impacts.

Education
Teaching people sbout what to
do in 3 tropical starm.

*  Theintense winds of trapical storms can destroy whole 48
communities, buildings and communication networks.

*  As well 5 their own dastructive energy, the winds can generate
abnaormally high waves called storm surges.

*  Sometimes the most destructive elements of 2 storm are thess

Causes

subsequent high seas and flooding they cause to coastal areas.

* People are left homeless, which can cause distress, poverty and ill
health due to lack of shelter.

* Shortage of clean water znd lack of proper sanitation makes it
easier for disezses to spresd.
*  Businesses are damaged or destroyed causing employment.

* Shortage of food 25 crops are damaged.

Case Suy: Typhoan Hoiyan 201

Started as a tropical depression on 2 November 2013 2nd gained
-strength. Became 3 ﬁﬂmgmﬂiﬂ.gmﬂﬁ;mn—m_ﬁ%m
Emvmn_nn_u—manuﬁﬁﬂﬁtiiqﬁm.

Effects

*  Almost 6,500 deaths.

* 130,000 homes destroyed.

*  Water and sewsge systems
destroyed had caused

diseases.
*  Emotional grief for dead.

Management

*  The UM raised £190m in aid.

" UUSA E UK sent helicopter
carrier ships deliver aid
remote areas.

*  Education on typhoon
preperedness.

Causes _’14
mﬂ.nﬂnﬁgﬁgi a&m..mﬁf.ﬁmﬂcmms zided E___l.me.mn_.aﬂﬁ
remnanits of ex tropical storm. 99mph winds.

Effects Management
4 deaths, flights cancelled, 850,000 Predicted to a good degree of

! thoat accuracy, Met Office issued a
din rail dis ; yellow weather warning, insurance
_. i L £ companies employed extra staff,
.m_i_unﬁa!ﬂm-ﬁ.mgﬂs e e tant
miillion trees blown down,
]

Climate change is a large-scale, long-term shift in the planet's weather
patterns or average temperatures. Earth has had tropical climates and ice
ages many times in its 4.5 billion years.

mﬁi Awerage globsl temperatures have increased by more
mpe than 0.6°C since 1950.

lce sheats & Many of the world's glaciers and ice sheets are mefting.
glaciers E.g. the Arctic sea ice has dedlined by 10% in 30 years.

Sea Level Average global sea level has risen by 10-20cms in the
Change past 100 years. This is due to the sdditionzal water from
ice and thermal expansion.

Recently there has been an increase in humans burning fossil fuels for i
energy. Thesa fuels (gas, coal and oil) emit greenhouse gases. This is meking
the Earth's atmosphere thicker, therefore trapping more solar radiation and

causing less to be reflected. As 3 result, the Earth is becoming warmer.

n.-.l:.ﬂ. Some argue that climate change is linked to how the Earth
Changes orbits the Sum, and the way it wobbles and tilts as it does it.

m..l.m—!am Dark zpots on the Sun are called Sun spots. They increase the
amount of energy Earth receives from the Sun.

Valcanic Volcanoes releaze large amounts of dust containing gases.
m-...-&mu_ﬂ These can block sunlight and results in cooler temperatures.

Carbon Capture Planting Trees
This involves new technology designed ta Planting trees increase the ameunt of
reduce climate change, carban is absarbed from atmaspheare.

International Agreements Renewable Energy
Countries aim to cut emissians by Signing Replating fossil fuels based energy with
international deals and by setting targets. chean natural sources of energy.



AR ecosystom |5 3 systam In which crganisms interact with each otherand  Blomo Location - Temperature - Rainfall Flara Fauna.
with their emvircnment. . .
Cenirec along tha #ak all year [25-30°C} Wery high fover Tall trees forming a canopy; wide Greatest range-of different animal
Equator. T00mm fyear] warlety of species. speoes. Most e i canapy layer
£ty ol i M R D ek Berween fatitudes 5 30°  Warm all year (20-30°C) Wit + dry season Grasslands with widely spaced Large: hoaled herbhvares and
gn | Thesaara living, such 2z plants, insects, and animals. north & south of Eguatar. {500 1500 mm;year | trees. carmivores dominate.
i Plant o cccurring in a particular region or time. Founa along the tropics ot by day [ower 30°C) Wery low (below Lack of plants and few species, Marry ardmals are small and
_ of Cancer anc Capricarn. Colct by night J00mm fyear| adapted 1o drought. nocturnal: except for the camel.
! Andmal life of any particlar reglan or time.
3 Betaeen tituces 0% Warm sumimers + milld Variabde rainfall {5004 Slainly dectduods trees; a varioty &nimals acapt 1o calder and
%. | B0 marth af Equator. wairrbers [5-20°C] 1500m fymar) af spacies. warmer dimates. Some migrate,
: Yl ___..__ ; 5l food chains are useful
= E._.g_.u__a__-:r.l:_l basie prinelples Far Latitudes of 55° north Cole winter + cool Lo rairlall (balow Senall plants grow chose o the Low number of species. Most
u& J A, ! behing scasystams. They show and south of Eguatar summars [below 10°C) S00mam; year] ground and only in summer. anémals found along coast
. " (e n.._—___a._._.lnmnﬂ_n. at a particular
) i trophic kevel Food wabs hawever Found withdn 307 north - ‘Warm water all year WL+ Oy Seasnns. Emall range of plant life which Dominated by palyps and &
s ‘pansists of 2 nebaark of many food saiith of Eguator in rau temperatures Rainfall varies grea s algae and sea grasses cherse species,
. of ny ihaf e with nfall greatly  includ o aind sea gra range of fish
é. 8= ‘chalns iterconnected togother. troqical waters, of 15% due tofocation. that shelters reef animals.

Unit 1b AQAT Y

Plands taka in nutriests te bulld into new ‘Ponds offer 2 ange of habitats induding In the surface water, bed, banks,

organic matter. Mutrlents are taken up when . vegetation etc. Anlmaks flve in different zones depending on adaptations to light
animals gak plants and then retumed to the bevels, orygen levels, temperatura, prodation etc.
sod wihen animals die anc the body ks broken

Ponds are at risk due to: ceforestation, Derw Pomds - Yorkshire Wolds.

down by decomposers..

disaase, hunting, restocking. alien specles,
This ks the surface yer of T ".."”. 3 hadge raw removal, eutraphication, cimate 18005 — Dew ponds used for
vegetation, which ower time ; change, draught, floading. n:ﬁw._m water for lvestack such as
becom b cattle.
il ey 1o el g%.ﬁﬁﬂm&ﬂnwﬁnﬂ: ofthe Earth 's surface yet they are 19005 — Westack reaning moved
The tatal mass of Eing ?un-maan_____m— E—Eﬂﬁ!ﬁmﬂﬂiﬂ-—ﬂ!ﬂﬁ indoars and become mone
organisms per unlt area. Intensive, ponds were filied in; foft
‘1o dry up, the scosysEem was
; destroyed.
| A rainforest works through interdependence. This is where the plants and 1019 - funding recelved on the
A blome 1z 3 krge gecgraphical area of distinctive plant and animal groups, animzls depend on each other for sunvival. If one compenent changes, there Farkshire Wolds to relnstabe and

which are acapted to that particular environmend. The dimate and geagraphy an b= serious knock-up effects for the entire ecosystem. e, 53 el

of a region dotermines what type of biome can exist in that reglon.
.. E Highest layer with trees reaching S0 matres.
i ; .

0% of I is found bere as |t recebees most
of tha sunlight and rainfall.

-E Conslsts of trees that reach 20 matres high.

Lovwest layer with small troas that have
adaptod 1o living in the shade.

Trespical ralnforests are centrad aleng the
_ Equator botween the Trepic of Cancer and
“°  Capricom. Rainforests can be found in Sooth
amsarica, caniral Africa and South-East Asla.
The Amazon |s the warlo's largest rainfarest
and takes up the magarity of nartham South
Amaerica, encompassng coontries such as
Brazil ang Peru.

Tha hot, damp conditions on the farest floar aflow far the mpid = Evening temperatures rarely fall below 22°C.

decompasition of dead plant material. This provices plentiful «  Due tothe presence of clowds, temperatures rarshy

nutrients that are easly absorbed by plant roats. Howaver, as these ._.mm.EB..__MHN-ﬂ

nitrients are in high demand from the many fast-gresing plants, i
The mist pradisctiva blames - which have the greatest they do not remain In the soi foe leng and stay close ta the surface. Most afternaans have heavy showers. — —
iomazs- grow in dimates that are hot and wet. P if vegetation is remaved, the solis quickly become infortile. = R&s#ﬂj:ﬁ&ﬁn_qﬁzmﬂ:ﬂﬂgﬂdﬁ |

II_,_.._..._....|1..-...|.-...IT



‘Rates of deforestation were slowing due to internatianal awareness and pratection. Summer 2018 ~ wildfires threatan the
staio of the Amazan.

E Large armms to swing & suppoet in the tree @napy.
E Allows beavy rain to rum off keaves easily.

.“ & Clmbs froes 1o reach sunlight at canopy.

Many tribes have developed sustainable ways af
survival. The rainforest prowices inhabitants with ..
*  Food through hunting and gathering.

+  Natwral medicimes from forest plants,

*  Homes and baats from forest wood.

“Tha Thar Dasert s lacated an the berder betwaen Indla and Pakistan In Southern Asia. Wiin ind i
‘mest popalated caniry In the werd E%ifi%.ﬁw 45.._.__ 1

B e e e

Miost of the world's hot ceserts are found J__._.._.
in the subiropics between 20 degreesand = o
30 degrees north & south of the Equatar. .
The Troples of Cancer and Cagpricorn run
thrawgh mast of the worlds major deserts. ik

|$.__.

.Jﬁ,ﬂ|
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+  Aridity - hot deserts are extremely dry,
with anrual rainfall below 250 mm.

*  Heat- hot deserts rise over 40 dagrees.

+  landscapes - Some places have cunes,

— mm b
il i 25 bt st are rocky wiith thomy bushes.

I - N -
S e —_— — an .::.J il
}r{ﬁiifi;jg .«_} uﬂt_u!.mnﬂn ? People oftenlive in large & Vary little rainfall with less than 260 mm per
— —————— ) - ' open tents to keep cocl. year. an 0
*  Warm and wot dimate encourages a = Mast widely reported cause af = Large scale ‘slash amd burn’ of Fond i often cooked skawly +Jt might only raln ance euary two to three years.
wide range of vegetation togrow. destructians to biodiversity. lard for ranches and pabm ol in the warm sandy soll. «  Temperate are hot in the day |45 *C) but are x x
= There is rapid recycling of nubrients io »  Timber i harvested ta create * Imcreases carbon esnlssion. + Hoad scarves are worn by cold at might due ta littke tloud cover (5 "CL £ =
speed plant growth. commaerclal leems such as *  River sttation and soll orcslon men to provide protection +  Inwinter, deserts can sometimes recehe
= Most of the rainfarest is untouchad. furniture and paper. Increasing due 1o the large from the Sun. aceastanal frost and sriow. ] ]
- — = +  Violest confrantation betwesn areas of enposed land. dFMAMIIASONHD o
ii?ti indigenous tribes anc fogging *  Imcrease in paim ol is making i
Naysioa it EREa companjes. the soll infertile.
. o Spo a spocies are
Important of ather species) are  Minesa Extraction E Toursm . . ”“...ﬂ_._.win.u abscrh water soonafter n_uz.”i._."u!.nunﬁu
extremely important in the rainforest ; - | e i s t EEE.E.“E
eoagystem. Humans are threatening *  Precious metals are faund in *  Mass fourfsm is resulting in the L e are closaly
these wital compenents. the rainforest. bullding of katels in estremely ¥ ! together and depand on
+  Decling in species could cavse bribes *  hreas manad can experience soll wilnarabie areas. v Saurip for shoring fat [NOT water], wach othar, espedally in
beirg unable to sundve. and water contamination. +  Lead to negathee selationship « Wide fost for walking on and, X asuchabarsh
+  Plants & animals may become extinct. +  Indigenous people are betwern the gavernment and o1 ik el i o st < 1 enwiromment.
= Key madical plants may become astinet. becoming displaced from thair indigenous tribes ]

land due ta roads being built to *  Tourism has exposed animaks
tranaport proucts. 1o human diseases. = e
EnarpyDesnispmet c Road Bulding. ﬁw SN i
+ Mining, farming and bogging croates + The _.#r raintadl creates ideal *  Roadsare needed to bring - H:.“._““““.F-r—- e ! Hq-_””s-*-ﬂ!-rﬂ#ng?;ng-f
““_.__._.”__qn:..__.q_.uﬂ". A i M_H_uﬁ._ﬂ_”u__ﬂﬂq ROt Hu.ﬂﬁ.:hﬂh”””ﬁﬂ”ﬂ = Enengy rasources sech s coal and oil can be foand in *  High avapaoration rates from imigation canals amd
+ Products tuch 2= palm all provide vakiable + 300 HEP plants are sither built, and energy projects, thiz Thar dessst. farmisnd.

under constructian or planaed
for the Amazon.

incoma far countries
The basz al blocharaity will reciuce tounsm,
Sl ecion i
Gnce tha lanc & expesed by detorestation,
the scil iz more vulnerable to rain,
with no raods to bimd soil sogether, cail an

..#G__.#.._.

*  Trans Amazanian Highway.

i i}?ﬂfﬂnﬁnﬂi.ze}!ii

power at Bhalerl.

*  Thar desert ﬂ-u_u._..ﬂun.unEE_n.F_-ﬁ.-nu:..nE_:n

festivals

Desertification means the turning of

wanlly wash auy. * as boss of biodiversity, sod erasian and climata change. semi-arid aroas (or drylands) into
deserts.

b Change _.__Er strategias include:

o R s e e A kil

re Swaps an

When ranforests are cut dawn, the climale ] Paople rely on wood far fuel, This

iy mur...h_l logging - Trees are only felled when they reach a particular v Al f Frai it Wi sl B e

.:.—-:E are carhon ‘simks’_ With graater - mi._mnn.unn - Efsuring thasé prapie R cacind sxpoiec.

dabarestathon comes miore greenhause B, R

omistions in the atmosphere.
“rhen trees are burnt, they rolsase mone
carbam in the atmosphene. This will anbance

+  intemational Hardwoad & et
ihe greenhouss affect. 4 woad ARrEame

*  Afforestation - If trees are cut down, they are replaces.
*  Ecotoarlsm - tourism that promates the envirenments & conseration
CITES or FSL.

if erops are grawn In the same areas
too aften, natrients in the soil will ba
used up causing soil erasion,

*  Great opportsnities for ranewabde energy such as solar

*  \Water suppies are limitad, oreating problems for the
Increasing number of people moving st area.

* . Access throwgh the desert Is tricky as roads are difficult
to build and malntais,

CEmate Change
Reduce rainfall and rising temperatures
hawve meant lass water for plants:

Overgrazing
Tao many animals mean plants are
eaten faster than they can grow back
Causing soil erasion.

* Water management - growing

crops that don't reed much water.

*  Trea Planting - trees can act as

windbreakers ta protect the soil
from wind and sall erosion,

+  Soll Management - leaving areas of

land to rest and recover losk
nutriants.

*  Tachnology - using less expenshe,

Fapalation Growth sustainable materials for peophe 1o
A grawing population puts pressure an maintain. I.e. saind fences, terraces
the land leading 1o mare deforestation, tov skabilise soif and solar cookers
‘owergrazing and over-cultivation. to redeice defarestation.



Relief of the UK Areas
Relief of the UK P ohay AR The bresk down and transport of rocks —
can be divided f ). 5 e ridges cold, smoath, round and sorted.
into uplands and " e - o misty and ek that b —
lowlands. Each I R e _n__u.n e Emman rio
have H_._mmqa._.__:._ I i) By S : ecome smogth/smaller.
il i Lw ; A ol & chemical reaction that
N diszolves rocks.
Key Areas -
[ o RO Pt Rocks hurled at the base of 2
— b o or rolling - i
Lewlands & ; cliff to break pieces apart.
; J af hills,
- AN | Warmer Water entars cracks in the cliff,
weather, air compresses, causing the
Updand i
i i.e. Fens crack to expand.

Types of Weathering

ooty s i wWeathering is the breakdown of rocks where
| they are,
Example:. =
Spurn _ 7 Breakdown of rock by
Head, e _”.. changing its chemical
Holderness P.JNA £ i T £amposition.
Coast . =2,
: _ Breskdown of rock withouwt
y— ol changing its chemical
i ! composition.

1]  Swash moves up the beach at the angle of the prevailing wind.

2]  Backwash moves down the beach at 307 to coastline, due to gravity.
3] Zigzag movement (Longshore Drift) transports material along beach,
4]  Depasition causes beach to extend, wntil readhing a river estuary.

5]  Change in prevailing wind direction forms a hook.

G]  Sheltered area behind spit enoourages depodition, salt marsh forma.

Waves are created by wind blowing over the surface of the

Unit 1c

Physical Landscapes in the UK

A natural process by which eroded material
is carried/transported.

Minerals dissolve in water
and are carried along.

Sadiment iz carried along in
. the fiow of the water.

Febbles that bounce along
the sea/river bed.

" Boulders that roli along 2
river/sea bed by the force of
the flowing water.

What is Deposition?

When the sea or river loses energy, it drops the
sand, rock particles and pebbles it has been

carrying. This is called deposition.

AQAH

Mechanical Weathering Example: Freeze-thaw weathering

Stage One Stage TWo

sea, As the wind blows over the sea, friction is created - i When the water
g 2 aker seeps ! i
preducing a swell in the water. e nﬂuﬂnﬁﬁwﬂ_
Why do waves break? el % This wedges
s apart the rock:
1 Waves start out at 5ea.
2 45 waves approaches the shore, friction slows the baze, E
3 This causes the orbit to become elliptical, - Fetch how N e
far the wave . 5
. This wave has a swash that is stronger
ac MRyt i hastravelled o1 ihe backwash. This therefore builds
A = A3 shore = Strength of up the coast.
o @ E 2 & the wind.
\\w. W, My =  How long the
it % wind has
e L >  bem
Maleruter blowing for.

Types of Waves

5tage Three

With repeated
Trasesthaw
oypches, the rock
braaks aff.

Destru ..n..w..m. Waves

This wave has a backwash that is
stronger than the swash. This therefore
erodes the coast.

A4 large movement of seil and rock debris that
moves down slopes in response to the pull of
gravity in a vertical direction.

Rain saturates the permeable rock sbove

1 the impermeahle rock making it heavy.

Waves or 3 river will erode the bass ofthe
slope making it unstable.

Eventually the weight of the permeable rock
3 above the impermeable rock weakens and
collapses.

The debris at the base of the cliff is then
removed and transported by waves or river.

Zarigirial
_ [==tt] L=t

g - B sy
mass

—

1p  Waowves attadk the
coastline.
2} Softer rock is eroded by
the sea guidker forming
a bay, calm area cases
deposition.
Maore resistant rock i
left jutting out into the
sea. This is a headland
and is now more
widnerable to erasion.

i}  Hydraulic action widens cracks in the cliff face
ower time.

2} Abrasion forms @ wave cut notch between HT and
LT,

3}  Further abrasion widens the wave cut notch to
from a cave.

4]  Caves from hoth sides of the headiand break
through ta form an arch.

5] Weather above/erosion below —arch collapses
beaving stach.

&}  Further weathering and erosion eaves a stump.



Waod barriers
pravent
longshore drity,
50 the beath
cam bodld up.

Concrete wallk
break up the
energy of tha
wave . Hasa lip
10 S1op wanes
EOINR ova.

Cages of
rocks{boulders
absork the
WAVIS SNETEY,
protecting the
clift bakind.

Sali Englneering Detences
Mourlshment

Beaches bullt
up with sand,
50 waves have
tao travel
farthas before
eroding cliffs.

Low valse
areas of the
coast are left to
food & eroda.

Managad

Redraat

Casa Study: Holdarmess Coasi

Locathon and Backgromnd

R

Baach still accossibie,
Mo deposition further
down coast = erodes
faster.

Long lie span
Protects from flooding
Curved shapo
encourages eroskon of
beatch doposis,

Cheap
Local material can be
used to book bess

strange.
Wil nead replating.

Cheap

Baach for tourists,
Starms = peed
repling.
Difshore dredging
damages seabad.

Redwce Hlood risk
Creates wildite
habitats.
Compensation for land.

East Aiding of Yorkshire. 51km from Flamborough Sead to Spurn

Podnt, Fastest eroding caastiine an Eurcpe. Aange of sattlements at

risk-an Easingtan Moeth Sea Gas Terminal.

Geomaorphic Processes

Flambarough Head: chalk, erodes shower; caves, arches, stacks, wave

cut platfoem

Sauth af the headland - boulder clay, deposited during last ioe age;

prone ko ragid erceion and shumping.

Spurn point —sand and shingle, 3 miles long. Longshore drifr.
Boulder clay cliffs = Mappletan, Hornsea — mass movement

camman.
Beaches - sand ang shingle

Managemant

Hoemnsea - £5.2 million ~ graynes, sea wall. Prabocts sea frant,
caravan site at nsk of mass movement however.

Mappletan - £2 millian spent on rock armaur and e groyhes,
Withernsea « Ef.3 million spent an a sea wall and rock armour

Precipiation Moistura falling fram cloods 2z rain; snow or hail Mear the river's mowth, the river widens ferthar and becomes flatter. Material transponed s de posized.
Intercaption Wegetation prevent water reaching the ground, Formation of Floodplains and levees sty e
s
Surtace Renctt Water llowing aver suriace of tho land inta rivers Whan a river flocds, fine siiyfalivaam is deposited b / h
- on the walley fioor. Claser to the river's banks, the \
Infiliration Water ahsorbed imta the sail fram the graund. heasler materksls balld up to form natural levees.

‘Water fost through leaves of plants. ¥ Nutrient rich sall makes it |deal for farming.
¢ Flat land for builming houses.

gz
Soft Engineering Hard Enginesring

Straightening Channal - increases velocity ta
remawe flood watar
artificlal Lewees — heightens river sa food water is

Physical and Human Casses of Food ng.

Fhiysical: Frolong B heawy ramfall
tong periods of rain causes soll bo
became saturated loading runiodl.

Physical: Rellat

Sttep-sided valleys channels water

Fhysival: Geology
Impermeable rocks causes surlace
runaff o increase rvor discharge,

Afforestation - plant trees o soak up rainwaber,
reduces flaod risk
Demountable Flaod Barrbers put in place when

Human: Land Use
Tarmac and concrete are

1o floa quickly into rivrs causing impermaable. This prevents

greater discharge. mfiltration & causes surlace runaff. warning raked. contained.
Managed Flooding - naturally let areas ficod, Deepening or widening river to increase @panty

Meaar the sowrce, the river flows over steen gradient from the hill/moentains,
This ghves the river a lot of enargy, so it will erode the riverbed vertically to
form narren vallays.,

?ll-l-|lll. 1] River flows over altermative types of rocks.

i

Hydrographs and River Discharge

River dischargs is the volume of water that flows in & iver. Hydrographs who discharge at a
certain point ina river changes over time in refation to rainfall

1. Peak discharge is the dischargein a
| period of time.
see—=—_ 2] River erodes soft rock faster croating a swep.

4/ 3 Further hydraubic action and abrasion form a

2. Lag time s the delay between pesk

rainfall and peak dizcharge.
plunge pood beneath.
4] Hard rock abowe is pndercut keaving cap rock mm. ﬂ.__mu.ﬁ S THE Jcestas {1 ke
which collapses providing mere material for rge.
erosion. L L
4, Falling limb is the decrease in river

5] Waterfall retroats leaving steep sided garge. dizcharge to normal level.

Middle Course of a River

Carse Study! Tha River Tees

Here the gradient get gentler, so the water has less energy and moves more
slowly. The river will begin to erode laterally making the river wider.

Location and Backgroand
Located in the Morth of England and flws 137k fram the Permines ta the Marth Sea at Red Car.

Geomorphic Frocasses
Upper = Features include W Shaped wvalley, rapics anc
waterfals. High Force waterfall drops 23m and & mado

Formatlon of Cx-bow Lakes

el m__-._u E fram harder Whinsbane and softer lmestane ke e 1|. =
..-l.-ﬂ. Ercslon of outer bank I Further hydrawlic Gracually a garge has been formed. o~
- 3 . foems rer cli#f. action and abraslon Midde - Features include meancers anc ax-bow lakes. The & "l
ey Dposition inmer bank of auter banks, neck ImEARCET near Yarm ancloses the town, %
=5 forms slip off shope. gets smallor Lowes = Greatar lateral erosion creates features such as i | fm e
flondplaing & levees. Muciats atthe rver's estuary. - W= Bes e
Stap 3 Step 4
Mamagamant
Eroslon breaks through -y svaporation and Tawns such as Yanm and Middeheraugh are economically and socially important due o houses
mack, 5o rvar takes the % deposithan cuts oft and fobs that are located thore,
. fastest route, — 4" main chanmel leaving Dams and reservairs inthe upper course, controls rver's low during high & [ow rainfail.

lqﬂr

.._ﬂ\

radirecting flow an axhow fake. Better flood warning systoms, more flood zonkng and fver dredging reduces floocing,



What is Urbanisation?

This is an increase in the amount of people living in urban areas such
a5 towns or cities. In 2007, the UN announced that for the first time,
maore than 50 % of the world®s population live in urban m..m.mw

F&n—n_.ﬂﬂ—rﬁuﬂn: .._’ Water Conservation
_ﬁﬂi_-ﬁu :
This is abowt reducing the amount
Urbanisation is happening of water usad,

all over the word butin
LECs and MEES rates are

much faster than HICs. This
is maostly because of the i
rapid economic growth T
they are experiencing.

= Collecting rainwater for
gardens and flushing toilets.
Installing water meters and
toilets that flush less water.
Educating pecple on using less
water.

.M.L Creating Green Space

Causes of Urbanisation

— The movement of fromruralto  Creating green spaces in urban
Rural - Er!.-:-@ﬂw!—.& =Ew_.___”_n..“w areas can improve places for
people who want to live there,
& Push - Pull E Prowvide natural coolerarsas for
. people to ralax in.

Mztural diszsters - More Jobs Encourages people to exarcise.

= Warand Conflict Better education & Reduces the risk of flooding
hechanisation heslthcare o e T TR
=  Drought = Increased quality of life.
Lack of employment = Following family members. c-.-_m.n N.-
_.. al 3 - E Whan the birth rate exceeds the death

Increasa in birth rate [BR) ...._ ;

Lower death rate [DR} @

- High percentage of Higher life expectancy due to

papulation are child-baaring

s it ound & Location
e Rk A Sk better livi :ﬂﬂ_ﬁi;_u:\m and Backgr
ack nﬂmh__.uw_mﬂmhmmu: - Improved mediczl facilities :.m.m__.:ﬁ“m in west _mnmz.._w_.____,d_m
; FEr helps lower infant mortality oty has a _!Ea.w..uu_..n*mu_nﬁ
education anE famify e 220,000 In 1970 it set the goal of
planning. | foecusing on social, economic and

environmental sustainability.

Miore than two thirds
of current megacitias
are located in either
MEE: [Brazil] and LICs
{Nigerial. The
amount of megacitias
are predicted to
increase from 28 to
41 by 2030

Sustainable Urban Living

sustainable urban living means being able to live in cities in ways that do
not pollute the environment and using resources in ways that ensure
future generations also can use then.

2 Urban Issues & Challenges

Sustainable Urban Living Example: Freiburg

This is the linking of different forms of public and private transport :..-_—s...
a city and the surrounding area.

Brownfield sites is an area of land or premises that has been previoushy
usad, but has subsaquently bacome wacant, derelict or contaminated.

Urban areas are busy places with many people travelling by differe
mades of transport. This has caused urban areas to experience different
traffic congestion that can lead to various probiems.

Energy Conservation mm Environmental problems

using less fossil fuals can reduce = Trafficincreases air polflution
the rate of climate change. which releazes gresnhouss
Promoting renewable energy gases that is leading to climate
SOUFCES. change.
= Making homes more enargy i re s
SHEERE. Economic problems social Problems
. M”“ﬂ.__ﬂm_zw pECpis TS Congsastion can make people = There isa greater risk of
: late for work and business accidents and congestion is 3
Waste Recycling ﬁ@ defiveries take longer. This can cause of frustration. Traffic can
% cause companies to loose also Jead to health issues for
miore recycling means fewer Money. pedestrians.
resources are used, Less waste
reduces the amount that Congestion Solutions
eventually goes to landfill, :
collection of housshold waste, " aen roads 10 sllow mare

traffic to flow easily.

= Buildring roads and bypazses
to keep throwsh traffic out of
City Centres.

= introduce park and ride
schemes to reduce car use.

=  Encourage car-sharing schemes
im work places.

= Hawe public transport, cycle
lanes B oycle hire schemes.

= Having congestion charges

discourages drivers from

entering the busy city centres.

fore bocal recyching facilities.
Greater awareness of the
bensfits in recycling.

AQAZ

Sustainable strategies

= The city's waste water allows
fior rainwater to be retained.

=  The use of sustainable ensrgy
such a5 solarand wind is
becoming more important.

= 40% of the city is forested with

In 2012 Bristol was the most
congasted city in the UK. Now the
city &ims to develop it's integrated

transport system to encourage

p more people to wse the public E
R _M_Mnmm o 4 transpart. The oty has also investad
teecnon, et in cycle rowtes and hiring schemes.

reducing flood risk.

This is a zone of land surrounding a city where new building is strictly
controdled to try to prevent cities growing too much and too fast.

The investment in the revival of odd, urban areas by either improving what
is there or clearing it away and rebuilding.



Urban Change in a Major UK City: London Case Study

Location and Background
London is a city in the ft.lm.._._.....“r
south east of - h..a..u. 3 o=
England. The .m.....__ N - =
population of the city tlu;.t!.l...... b b
is & million people -, St
The city grew during U ol R
the industrial 3 el T S

revolution.

Migration to London
Dwring the industrial revolution, the

population dramatically increased with people
migrating from nearby rural communities. h

Gentrification of Shoreditch and Canary Wharf
has pressured some communities to migrate
away from the area due to rising house prices
and the changing demographic.

Many young graduates migrate to the city.

City Challenges

Social House prices have increased along with
greater house shortages. Large variations in
wealth and quality of life. Homelessness.
Deprivation.

Economic: house prices are the highest in the
LUK, disparity in wealth and incomes.

Environmentzl: Urban sprawl places pressure
on greenfield land, traffic congestion, air
quality, waste.

*  Capital city, centre of government.

*  One of the financial capitals of the world.

* Headguarters of many large multinational
COMmpanies.

*  Intermational transport links.

' Top universities and medical facilities.

City's Opportunities

Social: various cultural attractions, improved
housing, a range of recreational opportunities,
integrated transport.

Economic: job opportunities e.g. financial jobs
Canary Wharf, Cross rail. Tourism. Stock
market. Retald ez, Harrads, Hamleys.
Entertainment e.z. West End, 02, live sport..

Environmental: Large volumes of green space:
became a national park city in 2019, urban
Breening.

' Brownfield site: previously industrial,
contaminated.

*  Lea Valley nature reserve, also a soft
engineering strategy.

*  London City Stadium.

v (Created new housing (unaffordable to the
poorest in nearby wards)

*  Employment opportunities

*  Facilities used by nearby schools

Location and Background
Rio is a coastal city |r.”- H..n..ﬂ -
situated in the South pe———
East region of Brazil SRS, T
within the continent -~ .|.|... A i
of South America. tis | =~ =%, T
the second most - ﬂ@n
populated cityinthe | A -
country {5.5 million) — =g
after 5a0 Paulo. - izl L i

The city began when Portuguese settlers with
slaves arrived in 1502, Since then, Rio has
become home to various ethnic groups.

However, more recently, millions of people
hawe migrated from rural areas that have
suffered from drought, lack of services and
unemployment to Rio. People do this to search
for a better gquality of life.

This expanding population has resulted in the
rapid urbanisation of Rio de Janeiro.

City Challenges

Social: There is a severe shortage of housing,
schools and healthcare centres available, Large
scale social inequality, is creating tensions
between the rich and poor.

Economic: The rise of informal jobs with low
pay and no tax contributions. There is high
employment in shanty towns called Favelas

Enwvironmental: Shanty towns called Favelas are
established around the city, typically on
unfavourable land, such as hills.

A

* Has the second largest GDP in Brazil It is
headguarters to mamy of Brazil's main
companies, particularhy with Oil and Gas.

*  Sugar Loaf mountain is world heritage site

*  Dne of the most visited places in the
Southern Hemisphere.

*  Hosted the 2004 World Cup and 2016
Summer Clympics.

*  Christ the Redeemer is a new 7 wonder.

City's Opportunities

Social: Standards of living are gradually
improving. The Rio Carnival is an important
cultural event for traditional dancing and music.

Economicz Rio has one of the highest incomes
per person in the country. The city has various
types of employment including oil, retail and
manufacturing.

Environmental: The hosting of the major
sporting events encouraged more investment in
sewage works and public transport systems.

*  The authorities have provided basic
materials to improve peoples homes with
safe electricity and sewapge pipes.

*  Government has democlished houses and
created new estates.

*  Community policing has been established,
along with a tougher stance on gangs with
military backed police.

*  Greater investment in new road and rail
network to reduce pollution and increase
connections between rich and poor areas.




Economic This is progress in economic growth through
levels of industrizlization 2nd uss of technology.

Social This is an improvement in people’s standard of
living. For example, clean water and electricity.

Environmental This invalves advances in the management and

protaction of the environment.

Tl

Economic indictors examples
Employment type The propartion of the population working
in primary, secondary, tertiary and
guaternary industries.
Gross Domestic This is the total value of goods and services
Product per capita preduced in & country per person, per year.
Gross National An gwerage of gross national income per

Income per capita person, per yearin Us dollars.

Bl

Social indicators examples

Infant mortality The number of children who die before
reaching 1 per 1000 babies bomn.

Literacy rate The percentage of population over the age
of 15 who can read and write.

Life expectancy The average lifespan of someone bom in
that country.
Mixed indicators

Human Development & number that uses life expectancy,

Index {HD) education lavel and income per persan.

Variations in the level of development

LICs

[

Paorest countries in the warkd. GNI
per capita is low and most citizens
have a low standard of living. —

MEEsS Thes= countries are getting richer

a5 their economy is progressing « E
from the primary industry to the R
secondary industry. Greater fl -
export: leads to better wages. i

W

HICs Theze countries ara wealthy with 2 g | o [
high GNI per capita and standards ’ : 4
of [ving. These countries tan

spend money on SEnvices.

é

Development is globally uneven with most HICs located in Europe, North America
and Oceania. Maost MEES are in Asia and South America, whilst most LICs are in
africa. Remember, development can alse vary within countries too.

Unit 2b AQAH
The Changing Economic World

Physical factors affecting uneven development

Natural Resources \.m‘_ Matural Hazards
. Fuel sources such as il . Risk of tectonic hazards.
. bdinerals and metals for fuel. . Benefits from volcanic material
. pvailability for timber. and floodwater.
- Access 1o safe water. . Frequent hazards undermines
redevelopment.
Climate .I.vt Location/Terrain rw

- Reliability of rzinfall to bensfit .
farming.

- Extreme climates fimit industry .
and affects health.

. Climate can attract tourists, .

Landlocked countries may find
trade difficulties.
Meountaingus terrain makes
farming difficult.

SCEnery attracks tourists.

. BR Low Rapidly Slowly
h DR Bedin fiil Low DR i
_H____.E.—_ B/ s ._.n._.l: BR i
g oR Low AR i Low R
Nl T veiih | ik Negative
e.g. Tribes e.g. Kenya a.g. India g UK &g lapan

Health

Migration

Human factors affecting uneven development

Aid

Aid can help some
countries develop key
projects for
infrastructure faster.
Aid can improve services
such as schools,
haspitals and roads.
Too much reliance on
aid might stop other
trade links becoming
established.

= o

Education creates 3
skilled workforce
meaning more goods
and services are
produced.

Educated people earn
More money, meaning
they also pay mare
taxes. This maney can
help develop the
country in the future.

i

Corruption in local 2nd
national governments.
The stahility of the
government can effect
the country’s ability to
trade.

Ability of the country to
invest into servicas and

Paolitics

infrastructure.

: pr—
Countries that export
more than they import
have a trade surplus.
This can improve the
nationzl economy.
Having good trade
relationships.

Trading geods and
SErvices is mare
profitable than raw

materials.
‘w_

Lack of clean water and
poor healthcare means a
larze number of people
suffer from diseases,
Fecpls who are ill
cannot work so there is
litthe contribution to the
SLONomY.

Maors money on
healthcare means less
spent on development.

2

2 F
Colenialism has helped
Europe develop, but
slowed down
development in many
other countries.
Countries that went
through industrizlisation
3 while ago, have now
develop further.

History

Consequences of Uneven _um_._.m_.u!..msa

Pacple in more developed countries have higher
incemes than less developed countries.

Better healthcare means that people in more
developed countries live longer than those in less

developed countries.

If nearby countries have higher levels of

development or are secure, people will move to

seak better oppartunities and standard of living.



Microfinance Loans it
Tk pesplr I ‘ This is when one country buys
receiving smalls loans from
traditional banks.
+ Loans enable people to begin
their own businesses
- its not dear they can reduce
poverty at a large scale.

Reducing the Global Development Gap
2]

rect investment

property or infrastructure in
another country.

+ Leads to befter access to
finance, technology & expertise.
- Investment can come with
strings attached that country's
will need to comply with.

o 1

P i This is when a country’s debt is
ThAS B ENven By GRe cUDEY T cancelled or interest rates are
another as money or resources.

lowered.

+ Improve literacy rates, building
dams, improving agriculture.

- Can be wasted by commupt
governments or they can
become too reliant on aid.

+ Means more money can be
spent on development.

- Locals might not always get a
say. Some aid can be tied under
condition from donor country,

Eair trade Technology x

2

This is @ movement where Includes tools, machines and
farmers get a fair price for the affordable equipment that
goods produced. improve quality of life.

+ Paid fairly so they can develop + Renewahble energy is less
schools & health centres. expensive and polhuting.

-0nly a tiny proportion of the - Reqguires initial investment and
extra money reaches producers, skills in operating technology

Jamaica is a LIC island nation
part of the Caribbean. Location
makes Jamaica an attractive
place for visitors to explore the

tropical blus seas, skies and

-in 2015, 2.12 million visited.
-Tourism contributes 27% of GDP
and will increase to 38% by 2025.
-130,000 jobs rely on tourism.
-Global recession 2008 caused &
decline in tourism. Now tourism
is beginning to recover.

C5: Reducing the Development Gap In Jamaica

Ta

palm filled sandy beaches

-Jobs from tourism have meant
more money haz been spent in
shops and other businesses.
-Government has invested in
infrastructure to support tourism.
-Mew sewage treatment plants
have reduced pollution.

Teurists do not always spend much money cutside their resorts.
Infrastructure improvements have not spread to the whole island.
Many pecple in lamaica still live in poor quality housing and lack
basic services such a3 haaltheare.

)
Debt Relief h_W

Environments.

Migeria is the most populous and [ el
economically powerful country in
Africa. Economic growth has been

suffered instability with a civil war

between 1967-1970.

From 1288, the country became
stable with free and fair elections.
stability has encouraged global
investment from China and UsA.

Cultural

Migeria's diversity has created rich

and varied artistic culture.
The country has a rich music,
literacy and film industry |i.z.
Nollywood].

4 successful national football side.

THEs such as Shell have played an

impartant role in its economy.
+ Investment has increased
employment and income.

- Profits move to HECs.

- Many oil spills have damaged
fragile environments.

swamps and its ecosystems.
Industry has caused toxic

chemicals to be discharged in open

sewers - risking human health.

B0% of forest have been cut down,
This also increasss COT emissions.

Migeria is a NEE in West Africa.
Migeria is just north of the Equator
and experiences a range of

D

Migeria is @ multi-cultural, multi-
faith society.

Although mostly a strength,
diversity has cavsed regional
conflicts from groups such as the
Boko Haram terrorists.

QT —1

Cnce mainly based on agriculture,
50% of its economy is now
manufacturing and services.

& thriving manufacturing industry
iz increasing foreign investment
and employment opportunities.

Migeria plays a leading role with
the African Union and UN.
Growing links with China with
huge investment in infrastructure.
hain import includes petrol from
the EU, cars from Brazil and
phones from china.

The 200809 oil spills devastated

+ Receives 35hbillion peryear in aid
+ Aid groups [Actionaid) have
improved health centres, provided
anti-mosguito nets and helped to
protect people ag3inst AIDSHIL.

- Some aid fails to reach the people
who need it due to comuption.

Life expectancy has increased from 46 to 53 years. 64% have access to
safe water. Typical schooling years has increased from 7 to 3.

The UK has one of the largest
economies in the world.
The UK has huge political,
economic and cultural influences.
The UK is highly regarded for its
fairness and tolerance.

The Uk has global transport links
i.e. Heathrow and the Eurostar.

De-industrialisation and the
decline of the UK's industrial base.
Globalisation has meant many
industries have mowved overseas,
where labour costs are lower.
Government investing in
supporting vital businesses.

Science Parks are groups of

scientific and technical knowledge

based businesses on a single site.

= ACcess o transport routes.

= Highly educated workers.

= Etaff benefit from attractive
working conditions.

= attracts clusters of relsted .
high-tech businesses. g

Social
Rising house prices have caused
tensions in villages.
villages are unpopulated during
the day causing loss of identity.
Resentment towards poor migrant
Communities.

A £15 bilfion 'Road Improvement
Strategy’. This will involve 10 naw
roads and 1,600 exira lanes.

E50 bilion H52 railway to improve
connections between key UK cities.

controversial third runway.
UK has many karge ports for
importing and axporting gocds.

Rkttt

braiana 4 i

.bq gy

highad =7 o ST
Earifie ]

The quaternary industry has
increased, whilst secondary has
decreased.

Numbers in primary and tertiary
industry has stayed the steady.
Big increase in professional and
technical jobs.

Every year the UK makes 1,5

million cars. These factories are

owned by large THCs. i.e. Nissan.

= 7% of energy used there
factories is from wind energy.

= Mew Cars are more energy
efficient and lighter.

= Missan produces electric and

hybrid cars.

Lack of affordable housing for local
first time buyers.

Sales of farmland has increased
rural unemployment.

Influx of poor migrants puts
pressures on local services.

- Wages are lower in the North.

- Health is batter in the South.

- Education is worse in the Morth.
+The government is siming to
suppaort 3 Morthern Powerhouse
praject to resolve regienal
differences.

+ hore devolving of powers to
disadvantaged regions.



ANSWERS Hazards Diagrams to label

//Lkhosphere
(crust and upper-
most solid mantle)

Structure of the Earth Crust 0-100 km

thick

Mantle

Not to scale
6378 km

To scale

Composite and Shield Volcano

Tall cone




ANSW/ES Hazards Diagrams to label

Earthquake

Tropical Storm

evaporatuon i m i
“ &?’»6 ’( W




ANSWEJ‘-)\S Hazards Diagrams to label
[

. Polarcell
Global Atmospheric  gowmrm D ')
. . o Rising warm,
Circulation model | SR, (
Ferrelcell

: '. Descending
g ‘ cooler, dry air
il Rnsmg warm,
A r l moist air

South Pole

Climate Change - \,

Animals and plants
need a certain climate
to live in. Some will
not get used to new
changes in the climate
and could die out.

) elimate change will lead
to floods, droughts, >
hurricanes and the
spread of tropical

the Earth : — Waas




ANSWEJ-)\S Living World Diagrams to label

Structure of the Earth

Rainforest Cycles

Rainforest water cycle

Heavy daily

Tl convectional |
Water } in "
evaporates

- — - !
L
Trees
Trees take intercept rain

up water /

Some rain
reaches

the ground
F

Trees shed
leaves all
year round

Trees grow |
rapidly

iy
f’ A \ i
; : Decaying

Shallow roots vegetation .
take up the | = decomposes |

nutrients | rapidly

&= Nutrients T "

e
enter the soil




ANSWERS Living World Diagrams to label

Camel adaptations

Cactus adaptations

Thick eyebrows

Closing nostrils

Thick fur

Well camouflaged

Wide feet =

Thick waxy skin

Large fleshy stems

Shallow, widespread roots



ANSWE Shysical Environments in the UK (Coasts)

Diagrams to label

Original shape

Chalk Headland ~~ ~ of headland

.........................

8 Headland | m

| Arch | :I" | il

Lines of weakness Sea cave Undercutting Wave-cut platform
exposed at low tide

Long Shore Drift

Direction of longshore drift _

—




ANSWERS

Coastal
Management

The Formation of a Spit

N

ST

HEADLAND

Photograph Facts Lifespan Cost
(approx. years)
Sea walls There are many different types
of sea walls: sloping, curved, stepped and
vertical. They are made of concrete or
stone. They stop the sea reaching the cliff 100 £3500 - £5000
base and reflect wave energy. per metre
Groynes (wooden) These reduce
longshore drift by trapping sediment on
one side. This builds up the beach, which
acts as a natural barrier to erosion by 30-40 £1000
absorbing the wave energy. per metre
1| Groynes (rock) These reduce longshore
drift by trapping sediment on one side.
They are made of granite or other hard £1000
igneous or metamorphic rocks and so last 100 per cubic
i | up to three times longer than wood. metre (m?)
Rip-rap is made from huge boulders
of granite or other hard igneous or
metamorphic rocks. They are placed at the £1000
base of cliffs to absorb the energy of the 120 per cubic
waves but let the water drain through them. metre (m3)
Gabions These are cages of stones. They
can be used to stabilise cliff bases and to
absorb the energy of the waves. They are .
a short term measure as they are easily 5-10 £30 per °“§"°
damaged by storm waves and the cages metre (m)
rust.
Revetments These are sloping features
which absorb the energy of the waves but Wooden £800
which let water and sediment through. 10 per metre
Older revetments were made of wood.
Some modern ones have shaped concrete | Rock armour £1200
or stone blocks laid on finer material and 30 per metre
are known as Rock armour.
Tetrapods These are usually made of
concrete. Their unique shape makes them
stable and they absorb the wave energy £1000
but allow the water to drain through them. 100 per cubic

metre (m?)




Demographic
Transition Model

The demographic transition in 5 stages

40 |

Changing Economic World ANS \J\_/Ejis
Diagrams to label
in Data

w
(=]

Birth and death rates
{per 1,000 people per year)

-
=]

Stage 1

Birth rate |High

Death rate High

MNatural increase  Stable or slow increase | Very rapid increase

Population
Pyramid

Men Wornen

Stage 2 Stage 3 Stage 4 Stage 5
High Falling Low Rising again
Falls rapidly Falls more slowly Low Low

Increase slows down Falling and then stable | Stable or slow increase

The author Max Roser licensed this visualisation under a CC BY-3A license. You find more information at the source: hittpl//www.QurorldinData.org/world-population-growth

Clark Fisher Model

70 '—\\

60 -

Sector percentage of employment in UK

1800 AD 2000 AD
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